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Sub-Section 1d: 72305364
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 723053922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Malini and Yazhini go for jogging from the same point. Malini goes towards the east covering 5 k. Yazhini proceeds
towards the west for 4 km. Malini turns left and covers 4 km and Yazhini turns to the right to covers 4 km. Now what
will be the distance between Malini and Yazhini?

Options:
« 9 km

% 8 km
% 6 km

% 5 km

Question Number : 2 Question Id : 723053923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T, U, V, W, X, Y and Z are members of a family consisting of four adults and three children, two of whom, Y and Z, are
girls. T and W are brothers and T is a doctor. X is a teacher married to one of the brothers and has two children. U is
married to W and Z is their child. Who is V?

Options:
% X's daughter

% Y 's father
« 1’s son

% Z's brother

Question Number : 3 Question Id : 723053924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Thermometer is related to Temperature in the same way as Hygrometer is related to

Options:
% Wind

» Humidity

% Rain
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% Purity of milk

Question Number : 4 Question Id : 723053925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given a statement and two assumptions. Choose the correct comment about assumptions from the given options
below.

Statement:
“Give this parcel to Mr. Peter at his residence and return immediately. In case vou are likely to be late inform me™ — The

Manager tells his office Watchman.

Assumptions:
I. The Watchman may not inform his late coming unless instructed.
II. The Watchman may not obey his Manager’s instructions.

Options:
» Only assumption I is implicit

% Only assumption II is implicit
% Both I and IT are implicit

% Neither I nor II is implicit

Question Number : 5 Question Id : 723053926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one from the following.

Options:
% Monkeys : Troop

% Bees : Hive
% Cattle : Herd

» Sheep : Lamb

Question Number : 6 Question Id : 723053927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a class, there are 15 girls who are over 45 kg in weight. If these constitute three-fourths of the girls and the total
number of girls is two-thirds of the total number of students in the class, then what is the total number of boys in the class?

Options:
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% 15

% 18

Question Number : 7 Question Id : 723053928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the pair similar to the following.

s B 1 e Bl

Options:
% 4:8

« 8:256
® 16: 256

# 11:110

Question Number : 8 Question Id : 723053929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following words will come third in the English dictionary order?
Options:

# Fan

« False
# Fact

# Fabric

Question Number : 9 Question Id : 723053930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In a certain code, ‘nir le nac® means ‘red and tasty’, ‘pic nac har’ means ‘apple is green’ and ‘coc nir har’ means “fiuit is
tasty’, then which of the following means ‘apple is tasty’ in that code?

Options:

% nir har nac
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% pic har nac
» har nir pic

% ©coc har pic

Question Number : 10 Question Id : 723053931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information carefully and answer the question given below.

(P, Q,R, S, T, Uand V are sitting on a bench and all of them are facing east.
(i) R is on the immediate right of S.

(1i1) Q is at an extreme end and has T as his neighbour.

(1v) S is sitting third from the south end.

(V) V is sitting between T and U.

Which of the following pairs of people are sitting at the extreme ends?

Options:
% RQ

w PQ
« UQ

% PT

Question Number : 11 Question Id : 723053932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If Ajith is to the south of Vinay and Barath is to the east of Vinay, in what direction is Ajith with respect to Barath?

Options:
% North-east
% North-west

% South-east

« South-west

Question Number : 12 Question Id : 723053933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Fill in the blank with the correct word based on the following analogy.
China : Yuan ; : Turkey ;

Options:

% Rial

% Dinar

« Lira

% Pound

Question Number : 13 Question Id : 723053934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct response from amongst the alternatives given that can replace the question mark.

@ (36) (25) ®) (64) (49

(13 15
© @) ()

Options:
w 100

# 110
# 121

# 144

Question Number : 14 Question Id : 723053935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a row of 21 students, when Murali was shifted by four places towards the right, he became 12 from the left end.
What was his earlier position from the right end of the row?

Options:
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% 11H
% 130
« 1410

% 150

Question Number : 15 Question Id : 723053936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the question given below, there are two statements Labelled as Assertion and Reason. Mark your answer as per the
codes provided below.

Assertion (A):
Salt is added to cook food at higher altitudes.

Reason (R):
Temperature is lower at higher altitudes.

Options:
% A Is true but R is false

% A is false but R is true

» Both A and R are true and R is the correct explanation of A

» Both A and R are true but R is not the correct explanation of A

Question Number : 16 Question Id : 723053937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Instruction: Select most appropriate alternative.

You are a pure vegetarian and have been invited to a party where non-vegetarian items are also being served. You must:
Options:

% sermonise those who eat non-vegetarian items.

» attend the party and follow your principles.

% hot attend such a party.

% ask the host not to serve non-vegetarian items.
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Question Number : 17 Question Id : 723053938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If M’ denotes ‘+’, ‘N’ denotes ‘—", ‘R’ denotes * + " and ‘S’ denotes ‘x’, then what is the value of the expression 9 S 48
RoN 16 M4?

Options:
#® 59

« 60

#® 61

Question Number : 18 Question Id : 723053939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read both the statements given below and choose the alternative accordingly.

I. Many people visited the religious place during the weekend.
IT. Few people visited the religious place during the weekdays.

Options:
% Statement I is the cause and II is its effect.

% Statement IT is the cause and I is its effect.

» Both the statements I and II are effects of independent causes.

+ Both the statements I and II are effects of some conunon cause.

Question Number : 19 Question Id : 723053940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You are given two statement and two conclusions. Choose the correct comment about conclusions from the given
options below.

Statements:
Some adults are girls.
Some girls are old.

Conclusions:

I. Some adults are not old.

I1. Some girls are not old.
Options:

% Only conclusion I follows
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% Only conclusion II follows

% FEither I or II follows

« WNeither I nor II follows

Question Number : 20 Question Id : 723053941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The following question has a matrix with a question mark in one block. Choose the correct response from amongst the
alternatives given that can replace the question mark.

10 142 L1 7
ol 22 70 50
31 I ? 87
68 19 6l 56
Options:
« 58
® 59
# 60
® 68
rerneral Awareness
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Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 72305365
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 723053942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The third battle of Panipat between the Marathas and Ahmad Shah Abdali. the ruler of Afghanistan.
was fought in the vear:

Options:
# 1851

% 1781
« 1761

# 1831

Question Number : 22 Question Id : 723053943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In which of the following vears did the then-Mughal-emperor appoint the British East India Company as the Diwan of
the province of Bengal?

Options:

# 1665

Question Number : 23 Question Id : 723053944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The control of Sind was taken over by the British East India Company in the year:

Options:
# 1857
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# 1757
1843

# 1743

Question Number : 24 Question Id : 723053945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the most polluted city in the world as per the latest data released by the World Health Organization?

Options:
» Kanpur

% Varanasi
% Delhi

% Patna

Question Number : 25 Question Id : 723053946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With how many states/Union Territories does Uttar Pradesh share its borders?

Options:
® 6
® 7

® 8

« 0

Question Number : 26 Question Id : 723053947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the minimum age requirement for the membership of the Vidhan Sabha?

Options:
i | T .
% 23 vears

« 21 vears

i | T .
& 29 years
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Question Number : 27 Question Id : 723053948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is correctly matched?

Options:

% Part III — Fundamental Duties

» Part ITI — Fundamental Rights
w Part IIT — Directive Principles of State Policy

« Part IIT — Citizenship

Question Number : 28 Question Id : 723053949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The Attorney-General of India holds office during the pleasure of:

Options:

% The Prime Minister of India

# The Chief Justice of India

« The President of India

% The Vice-President of India

Question Number : 29 Question Id : 723053950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

What is the volume of Indian Gold Reserves as of April 20187

Options:

« $21.48 Billion

% 35 2.48 Billion

% $21.48 Million

% 3 2.48 Trillion
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Question Number : 30 Question Id : 723053951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where is Indira Gandhi Institute of Development Research (IGIDR) located?

Options:
% Chennai

« Mumbai
% Kolkata

% Bengaluru

Question Number : 31 Question Id : 723053952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
To which state does the Warli Folk Painting belong?

Options:
% Gujarat

% Karnataka

% West Bengal

« Maharashtra

Question Number : 32 Question Id : 723053953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chaiti Ghora is a folk dance of which of the following states?

Options:
% Gujarat

« Odisha

« Rajasthan

% Madhya Pradesh

Question Number : 33 Question Id : 723053954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Meenakshi Srinivasan is an exponent of which of the following dance forms?

Options:
% Kathak

% Kathakali

» Bharatnatyam

» Kuchipudi

Question Number : 34 Question Id : 723053955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which among the following countries won 2016 edition of Kabbadi world cup?

Options:
# Iran

« Japan

% Canada

« India

Question Number : 35 Question Id : 723053956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the total number of Gold Medals won by India at Commonwealth Games 20187

Options:
® 44

o 20
® 33

% 18

Question Number : 36 Question Id : 723053957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following stages/steps of *Moon® does NOT appear at all?

Options:
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« INew Moon
% Full Moon
% Gibbous Moon

# Crescent Moon

Question Number : 37 Question Id : 723053958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the following is the Chairman of SEBI?
Options:

% Deepak Vats

% Jatin Sinha
% Lalit Sood

» Ajay Tyagi

Question Number : 38 Question Id : 723053959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fejervarva goemchi. a species of large-sized terrestrial frogs, have been named after:
Options:
# Daman

% Diu
% Pondicherry

« Goa

Question Number : 39 Question Id : 723053960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the following leaders chaired a meeting of Western Zonal Council held in April 20187
Options:

% Arun Jaitley
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% Narendra Modi
» Rajnath Singh

% Uma Bharti

Question Number : 40 Question Id : 723053961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the core sector growth rate in FY 2017-18?

Options:

% 2.83%

# 3.3%

 4.2%

# 5.7%
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Question Number : 41 Question Id : 723053962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a long division sum, the quotient consists of two digits. If the dividend is 40051 and the two remainders are 173 and
294, respectively, then the difference between the divisor and quotient is:

Options:

# 380

Question Number : 42 Question Id : 723053963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(0.32)*+(0.45)°—(0.77)% .
(1.35)(0.11)(2.24)

The value of

Options:
# 0

« —1

% 1

Question Number : 43 Question Id : 723053964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
4x2+4 of (4+4+4) y 7+4+12
5+3+(a—2)+2 of 5+46+4  (6+18x3)x11

On simplification, reduces to:

Options:
1

x 33
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Question Number : 44 Question Id : 723053965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

29 1 7 1 7 9

1£+4§X IE)+(EE—?E+ 95) .

The value of i i lies between:
15+[25- (35— 23)]

Options:
« 0.11 and 0.21

# 0.21 and 0.31
% 0.31 and 0.41

% 041 and 0.51

Question Number : 45 Question Id : 723053966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

? F ; ‘ T . : v 18
A fraction is such that if the numerator is multiplied by 3 and the denominator is reduced by 3 the fraction becomes i
but if the numerator is increased by 8 and the denominator is doubled, the fraction becomes % What is the difference
between the numerator and the denominator of the original fraction?

Options:
# 12

13
% 15

% 18

Question Number : 46 Question Id : 723053967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Let x be the least number which when divided by 16, 28, 40 and 77 leaves the remainder of 8 in each case. When x is
divided by 108, the remainder is:

Options:

# 10

® 11
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Question Number : 47 Question Id : 723053968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The numbers 7642, 8494 and 9985 give, in each case, the same remainder when divided by a certain number. The sum
of such greatest number and the remainder is:

Options:
® 396

& 400
% 408

# 412

Question Number : 48 Question Id : 723053969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

There are three non-zero numbers. The ratio of the first number to the sum of the three number is 1 : 8, the ratio of the
second number to the sum of the three numbers is | : 3 and the ratio of the third number to the sum of the three numbers
1 : k. What is the value of kK?

Options:
13

x 24

24
% 35

35
% 24

24
o 13

Question Number : 49 Question Id : 723053970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A earns 100% more than B, whereas B spends 40% less than A. A saves 300% more than B. If the total monthly savings
of A and B together is T 10,000, then what is the monthly income of A?

Options:
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% < 14.000
% < 16,000
» T 28.000

% < 32.000

Question Number : 50 Question Id : 723053971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A shopkeeper marks an article at such a price that after allowing a discount of 12.5% on its marked price, he still earns
20%. If the cost price of the article is ¥ 1,400 and he sells it at its marked price, then his profit percent will be (nearest to
an integer):

Options:
« 25.5%

d\.

Lo
[
A
2
=1

s
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 51 Question Id : 723053972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A person gets simple interest of ¥ 1,800 on a certain sum at the rate of 12% per annum in 4 years. What compound

f . i ; £ 3 g
interest will he get on twice the earlier sum in 2 , Vyears at the same rate nearest to an integer?

Options:
% < 2,732

Question Number : 52 Question Id : 723053973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The diameter of a cylindrical jar is increased by 25%. By what percent must its height be decreased so that there is no
change in its volume?

Options:
# 25%

" 36%

# 40%

Question Number : 53 Question Id : 723053974 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rekha visits her friend and then returns by the same route which consists of uphill, downhill and level ground parts. She
walks 3 km/h when going uphill, 6 km'h when going downhill and 4 km/h when going on level ground. If her total
walking time is 12 hours, then the total distance (in km) she walks is:

Options:
# 36 km

« 48 km
# 54 km

% 60 km

Question Number : 54 Question Id : 723053975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
To do a piece of work, B takes four times as long as A and C together and C takes three times as long as A and B

together. If they work together, they can do the same work in 10 days. They worked together for 4% days, and the
remaining work was completed by A in x days. The value of x is:

Options:
10
® 12

® 15

® 18

Sub-Section Number: 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

Sub-Section 1d:
Question Shuffling Allowed :

GET IT ON
Google Play

Question Id : 723053976 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (5510 56)

Cestion Label | Comprehiension

Study the following pie chart and table and answer the question

that follows:

Percentage wise distribution of the number of
mobile phones sold by a dealer during 5 months

Total number of Mobile phones sold by Company = 48000

The followmg table shows the respectrve ratio between the
mumber of mobile phones sold of company A and company B.

Month Ratio

January o

February 11:13

March 5:3

April T

May 28
Sub questions

Question Number : 55 Question Id : 723053977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The number of mobile phones sold of company A
during January and March taken together is
approximately what per cent of the total number of
mobile phones sold of company B during February,

April and May?
Options:
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# 49%

#

A
[
=]
B\

® 59%

¥ 61%

GET IT ON
Google Play

Question Number : 56 Question Id : 723053978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

In how many months will the number of mobile
phones sold of company A be more than the average
number of mobile phones sold per month of
company B over the given months?
Options:

% 1 month

« 2 months
% 3 months

% 4 months

Sub-Section Number: 3
Sub-Section Id: 72305368
Question Shuffling Allowed : Yes

Question Id : 723053979 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (57 to 58)
Juestion Label - Comprehension
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Study the following graph and answer the question that follows:

Annual turn-over of companies

A and B during different years (in T crores)
350

400
350
300
250
200
150
100

50

2009

Sub questions

2010

2011

2015

—g— Company A

—ag— Company B

Question Number : 57 Question Id : 723053980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the difference between the total turn-over of
companies A and that of B during the given years
(1n crores of rupees)?

Options:
% <331

% T319

Question Number : 58 Question Id : 723053981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The total turn-over of company A in 2010, 2012 and

2014 is what per cent of the total turnover of

company B in 2011, 2013 and 2015 (correct to one

decimal place)?

Options:
# 50.9%

# 51.6%
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Sub-Section Number: 4
Sub-Section 1d: 72305369
Question Shuffling Allowed : Yes

Question Id : 723053982 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

Study the following graph which shows the production of paper
(in lakh tonnes) of six companies over the years, and answer
the question that follows.

m201? @013 w2014

85
80 8O
75 78
70
70 & 59 i 65 N &2
58 60 60
&0 55 55
50
50 45
m I I
0
A E C ¥} E F

Companies

8 £

Production of papers ( in lakh tones)

s
f=]

Sub questions

Question Number : 59 Question Id : 723053983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the difference between the total production
(in lakh tonnes) of paper of the six companies in
2013 and 20147

Options:
% 12

« 13
% 18

® 25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 60 Question Id : 723053984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Total production of companies A, Band C in 2012 is
what per cent of the total production of C. Dand E in
2013 and of D, E and F in 2014 taken together
(nearest to a whole number)?

Options:

« 40%

# 42%

% 44%

% 47%

Zeneral English

Group Number : 4

Group Id : 72305349

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

General English

Section Id : 72305349
Section Number : 1
Section type: Online
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Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 72305370
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 723053985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Choose the correct synonym of:
charm

Options:

« mystery

% lovingness
« attractiveness

% gratitude

Question Number : 62 Question Id : 723053986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct antonym of:

disdain
Options:
% divide

% retain
% punish

» respect

Question Number : 63 Question Id : 723053987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of the underlined phrase to fill in the blank.

We thought we could do without her help but she turned out to be and we had to ask her for assistance in
completing the work in time.

Options:
% approachable

% answerable

» indispensable

% Qquestionable
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Question Number : 64 Question Id : 723053988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blank with the correct word:

Having listened to both sides, judge got up to give his verdict.
Options:

# some

® 4an

® 4a

« the

Question Number : 65 Question Id : 723053989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word(s):

When I announced my decision to go abroad. I strong opposition from my parents.

Options:
% was received

% leceiving
« received

% am receiving

Question Number : 66 Question Id : 723053990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate word:

We reached the sea beach walking for more than one hour.
Options:
% while

« after

% always
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% behind

Question Number : 67 Question Id : 723053991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

In spite of the difficulties you will facing, you must be courageous and face the challenges bravely.

Options:
% In spite of

» you will facing

% must be

% the challenges

Question Number : 68 Question Id : 723053992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

My secretary told me that he has forget to lock my cupboard and said that we should furn back.

Options:
% told me

» has forget

% said

% turn back

Question Number : 69 Question Id : 723053993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passive voice form of the given sentence:

Sonia has told me that she wants to become a famous dancer.
Options:
% I have been telling Sonia that I want to become a famous dancer.
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% I have been telling Sonia that she must become a famous dancer.
» 1 have been told by Sonia that she wants to become a famous dancer.

% Sonia has been telling me that she wants to become a famous dancer.

Question Number : 70 Question Id : 723053994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate indirect narration for the following sentence:

The taxi driver said to Suresh, *T never cheat my customers. God has been very kind to me”.

Options:
The taxi driver said to Suresh that he would never cheat his customers. He further told him that God had been very kind
# to him.

% The taxi driver assures Suresh, “I never cheat my customers. God has been very kind to me”.

% The taxi driver said to Suresh he never cheats his customers and God has been very kind to me.

The taxi driver assured Suresh that he never cheated his customers. He further told him that God had been very kind to
o him.

Question Number : 71 Question Id : 723053995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option to combine the given sentences:

I felt very guilty. I was late for the meeting and my boss was very tense.

Options:
» Lfelt very guilty as I was late for the meeting and my boss was very tense.

% I felt very guilty while I was late for the meeting and my boss was very tense.
» I felt very guilty how I was late for the meeting and my boss was very tense.

% I felt very guilty why I was late for the meeting and my boss was very tense.

Question Number : 72 Question Id : 723053996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
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Lying in bed Swami realised that it was Monday morning pretending to be really unwell, he groaned aloud. Mother, I
% have a headache. I can’t go to school today!

Lying in bed Swami realised that it was monday morning Pretending to be really unwell, he groaned aloud, “Mother, I
% have a headache I can’t go to school today!”

Lying in bed Swami realised that it was monday morning. “Pretending to be really unwell, he groaned aloud mother I
% have a headache. I can’t go to school today!™

Lying in bed, Swami realised that it was Monday morning. Pretending to be really unwell, he groaned aloud, “Mother, I
» have a headache. I can’t go to school today!™

Question Number : 73 Question Id : 723053997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the word that is correctly spelt:

Options:
% attension

» aprehension
» hypertension

% comission

Question Number : 74 Question Id : 723053998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate idiomatic expression:

Both the political parties are in order to win the elections.
Options:

» making their mark

% Spreading like wildfire

% making a clean sweep

» moving heaven and hell

Question Number : 75 Question Id : 723053999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Fill in the blank with the appropriate phrase:

Our project was designed very well but it because we could not meet the financial requirements.
Options:

% fell out

» fell through

» got through

% got out

Sub-Section Number: 2
Sub-Section 1d: 72305371
Question Shuffling Allowed : Yes

Question Id : 7230531000 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension
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Read the followmg passage and answer the questions that follow:

Former Professor of Philosophy at Micligan University. and
father of eco-philosophy. Hemryvk Skohmowskl roused our
consciousness to become aware of the deadly consequences of
usmg toxic pesticides and gave people a constructive message of
alternatrive Iving. His eco-philosophy remvents our relationship
with nature and self. The proposed solutions are not utopian. but
truly practical

For Skolmowski ecological phenomena are of cosmuc nature
and all life has evolved from one. basic. cosmic phenomenon.
Existence of anv one species cannot be isolated from all other
species. Therefore. Homo sapiens. as a species. is not isolated
from other forms of hfe. All forms are enveloped m oneness.
Skolmowski had faith m the absohite umity of all life and the
universe.

Destruction of habitats. extmction of species. violence agamst
certam forms of hfe. the mumerous divisions and conflicts
amongst people. our discrimmatory attitude and the tendency to
isolate hfe from non-life and Iving from non-ivmg — all of
these are due to disregarding the principle of oneness.
Skolmowski comnects dversity with umity and emphasises the
oneness of all life.

Eco-philosophy seeks to refine and adopt an art of Ivmg m sync
with the environment. promoting ethical lIiving.

Skolimowskian philosophy teaches us to comply with the laws
of evolution. Defiance of evolution reduces us. and diffuses our
creative potential. If socio-cultural and political mstitutions like
families. religions and govemments are not conscious enough
and are not evolitionary i nature, those being nmutured m the
shadows of these systems remam intellectual dwarts. If the
educational system 1 flawed with s commoditisation and is
directed at trainng mdmiduals and conunumities to become
producers and consumers rather than becoming enhghtened
citizens. then. the “educated’ are left with reduced mtellect. But.
if socio-cultural. political and educational systems are vibrant
with positive. hfe-enhancing ideas comphlance with cosmic

evolution will be fulfilled.

Sub questions

GET IT ON
Google Play

Question Number : 76 Question Id : 7230531001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Complete the sentence by choosing an appropriate
option.

In the passage. Skolimowski has raised sensitivity to

Options:
% diversity of life

» eco-philosophy
% lmproving relationships

% human consciousness

Question Number : 77 Question Id : 7230531002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the passage. ‘Cosmic phenomenon’ refers to ...

Options:

» oneness of all beings — living and non-living
« Separate identities and life styles of all living beings

% Isolation of humans from other forms of life

the natural differences between living and non-living
% beings

Question Number : 78 Question Id : 7230531003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Skolimowski believes that human beings are . ..

Options:
% positive in their attitude
« Tollowing ethics in life

» Widening the gap with other life forms

% In harmony with nature and their surroundings
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Question Number : 79 Question Id : 7230531004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Through eco-philosophy. Skolimowski proposes ...
Options:

% living a life of high morals

» following environment ethics
o £
% training communities to produce more goods

% reducing intellectual activities

Question Number : 80 Question Id : 7230531005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One example the writer gives of defying evolution
and reducing creativity is that ...

Options:
» We are becoming intellectually narrow
% our physical growth is stunted

% We are becoming highly consumerist

% our mental growth is reduced
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Question Number : 81 Question Id : 7230531007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TETTYT B JUH 9T T T
Options:

% fo=awom

Question Number : 82 Question Id : 7230531008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 83 Question Id : 7230531009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 84 Question Id : 7230531010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 85 Question Id : 7230531011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 87 Question Id : 7230531013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Read the following passage and answer questions.

Near the end of the 19% century, economist Thorstein Veblen came up
with the idea of conspicuous consumption. Coincidentally (or maybe
not), around this time French perfumers mastered the art of selling an
inexpensively-produced product as a symbol of decadent luxury. In
fact, historian Eugénie Briot points out that the marketing of scents
through clever branding, rather than real differences in what’s being
sold, originated in 19%-century France.

Industrialisation transformed the perfume business in the 19% century.
Steam engines allowed for mass production on a radically new scale.
Between 1880 and 1905, one factory went from a 6-horsepower
machine to a 500-horsepower alternative. Machines ground iris root
and extracted and infused scents. Factories could now dry perfumed
soaps in less than a tenth of the time it had previously taken.

In the 1870s, French perfumers also quietly began swapping flowers
and other organic materials out for artificial compounds. Scents
created with piperonal, a synthetic chemical that happened to smell
like the heliotrope flower, quickly became popular with the upper
classes. But, as the cost of producing the chemical fell, “heliotrope”
perfumes descended the class ladder. By the late 1890s, it was
associated with disreputable members of the lower class. The price of
other scent compounds, including vanillin and artificial musk. also
dropped precipitously in these years.

Some perfumers celebrated the newly widespread availability of
perfumes. “One of the outstanding features of the social history of our
time is the ascent of the humble classes toward well-being, a luxury, as
we could say, until then reserved only to the privileged,” one wrote.
“Today, the humblest craftsman uses perfumed soap, which he or she
can obtain at infinitesimal prices.”

While some perfume-makers gravitated toward a high-volume, low-
price business, others developed ways to keep selling at high prices.
The different perfumes were “easily interchangeable,” Briot writes, so
manufacturers found new ways to sell them.

It helped that in the second half of the century, perfumers also
achieved a new social status. Some were knighted, and others were
elected to public office. This fame allowed some of them to transform
their names into brands. As competition heated up, Briot writes,
“Capitalising on their names was among the first, and best, ways to
achieve dominance.”

Other tactics for selling expensive perfumes to wealthy buyers
included displaying them in fancy boutiques and using elaborate
packaging. And in a move echoed today in “sponsored content™ stories
on news sites, high-end perfumers also placed ads disguised as society
gossip columns in which high-society ladies praised their products. As
Briot puts it, perfumers differentiated “their products by conferring a
highly symbolic value on them.”
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Sub questions

Question Number : 101 Question Id : 7230531028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is this passage about?
Options:
How French perfumes became popular and came to
% be used by all classes of people

Changes in the branding, marketing and consumption
» of French perfumes

% The branding and marketing of French perfumes

% The origins of the French perfume industry

Question Number : 102 Question Id : 7230531029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What main idea/topic is developed in the third
paragraph?
Options:

How piperonal replaced heliotrope flowers in
% perfumes

How perfumes came to be associated with the
» ‘vermin’ of society

The discovery, production and popularisation of
» Synthetic perfumes and their consequences

How perfumes became cheaper in all senses
o Of the word

Question Number : 103 Question Id : 7230531030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The sixth paragraph shows how:
Options:
brands moved upwards on the social-ladder when the
+ manufacturers became celebrities
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perfumers rose in society and used their names as
» brands to make their perfumes famous

branding in the market place is a consequence of
« labeling of people in the wider society

as brands became more famous and expensive,
« perfumers gained greater social status

Question Number : 104 Question Id : 7230531031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The manufacturing process of the French perfume
industry and business underwent fundamental
changes:

Options:

% When the laboring-class started using perfumes

% When chemicals replaced flowers
% When perfumers became celebrities

» When the industrial revolution happened

Question Number : 105 Question Id : 7230531032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When the writer observes, ‘The different perfumes
were easily interchangeable,” he implies that:
Options:

there were no cost differences between the higher-
» end and the popular perfumes

there were no social differences between the higher-
» end and the popular perfumes

there were no price differences between the higher-
« end and the popular perfumes

there were no substantial differences between the
» higher-end and the popular perfumes
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Question Number : 106 Question Id : 7230531033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is FALSE?

Options:
Perfumes were considered a decadent luxury in
# France.

Laborers like bathing with perfumed soaps because
« they can afford them.

Upmarket boutiques, more fantastic bottles and the
swankiest packaging presented ordinary perfumes as
% exotic products.

Extracting and infusing scents into soaps remained
harder and expensive unlike drying soaps, due to
« Industrialisation.

Question Number : 107 Question Id : 7230531034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is true?

Options:
The shift of the humble classes toward well-being
» made luxury items affordable to them.

Societv gossip columns employing high-society
« ladies to praise perfumes made the poor spurn them.

Branding and name and fame are discrete
phenomena, as has been shown by the perfume
% industry.

Swapping flowers and other organic materials out for
» artificial compounds led to better smelling perfumes.

Question Number : 108 Question Id : 7230531035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which one of the following options provides an
accurate interpretation of the following statement?

... as the cost of producing the chemical fell,
“heliotrope™ perfumes descended the class ladder.

Options:
... as the cost of producing “heliotrope™ perfumes
« fell. it was considered a popular perfume.

... as the cost of producing the chemical fell,
% “heliotrope™ perfumes naturally went downhill.

. as the cost of producing the chemical fell,
“heliotrope™ perfumes were used by labourers and
w Wworking-class people.

... When the base chemical became cheaper,
“heliotrope™ perfumes became cheaper. came to be
» Used by ordinary folk and lost its ‘rich’ tag,

Question Number : 109 Question Id : 7230531036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the most appropriate meaning of the
highlighted word in the sentence below, according to
the context in which it is used in the passage:

...economist Thorstein Veblen came up with the idea
of conspicuous consumption.

Options:
» attention-grabbing

% understandable

« elegant

% arrogant

Question Number : 110 Question Id : 7230531037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Identify the correct synonvm of the highlighted word
in the sentence given below, according to the context
in which it is used in the passage:

Today, the humblest craftsman uses perfumed soap,
which he or she can obtain at infinitesimal prices.

Options:
% limitless

» hegligible
% unimportant

% countless
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Read the following passage and answer questions.

In the early- to mid-19t% century, Americans heard or ignored ‘sounds’
depending on their ideological predispositions, and perhaps to some
extent we still do. After all, this summer many of us will head out for a
week of camping in the woods or hiding out in a beachside cabin,
eager for the peace and quiet of nature. But why do we think of nature
as quiet, when there are squawking birds, crashing waves, and maybe a
raucous thunderstorm rolling in? Environmental historian Peter A.
Coates points out that what we think of as noise is as much a matter of
ideology as decibels.

Coates writes that city dwellers have always complained about noise,
starting long before industrialisation. “Possessing the power to drive
genteel folks to distraction were hammering tinsmiths, carpet-beating
maids, whip-cracking, foul-mouthed animal drovers, and, not least, the
purveyors of so-called ‘rough music,” he writes. Horse-drawn
carriages made such a racket on city cobblestones that people in the
1890s actually looked forward to the horseless electric carriage as a
quieter alternative.

But in some times and places, it was nature that was understood as
noisy while the sounds of civilised society were considered a gentle
comfort. Quoting historian Mark Smith, Coates notes that European
settlers in America found the noise of an axe striking a tree an ““aural
victory over howling wilderness™—*howling” evoking Old Testament
language suggesting both wild beasts and *“equally blood-thirsty and

ignoble human savages whose keynote sound was a blood-curdling
war whoop.”

To 19%-century modernists, Coates writes, “‘mechanical sounds and the
noisy bustle of commerce bespoke prosperity” while quiet “was
synonymous with indolence, backwardness, and stagnation.” But
romantics like Nathaniel Hawthorne heard the “long shriek” of a
distant train whistle as an affront to both the natural sounds of birds
and leaves and the preindustrial human sounds of the village clock or
the cowbell. “It tells a story of busy men, citizens, from the hot
streets,” Hawthorne wrote. “It brings the noisy world into the midst of
our slumberous peace.”

In the 20% century, natural quiet—or. rather, the absence of radios and
car horns and the presence of honking geese and howling wolves—
became central to the conservation movement and the creation of
natural parks. One founder of the Wilderness Society suggested in
1932 that designated wild areas would “interest the folks in the
inexpensive joys of nature in lieu of the jarring jams of jazz.”

In contrast, “wise use” advocates of the late 20% century hoped human
sounds could coexist harmoniously with nature. In 1990, future Interior
Secretary Gale Norton argued for the “right to make noise”™—for
example by enjoying the natural world from the seat of a snowmobile.

When city-dwellers head out into nature this summer, they might just
find that the quiet they seek is not external after all.
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Sub questions

Question Number : 111 Question Id : 7230531039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the option that finds and states the main idea
that is developed in the passage:

Options:
The difference between quiet and ‘noise’ is a matter

of likes and dislikes and the perception of it has
» Vvaried across centuries. people and habitats.

The quiet that man seeks is in him and not in the
external world — that definitions of noise and its
« origin vary shows people have not realised it.

Modernists considered quiet to be a sound of
laziness, while Romantics found the buzz of
% Industries a violator of natural sounds.

City dwellers have alwavs been against noise,.

especially the industry-produced one; the rural

residents of villages may consider the sounds of
% animals and birds ‘noise” or unwanted sound.

Question Number : 112 Question Id : 7230531040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What can be concluded from the following sentence?

When city-dwellers head out into nature this
summer, they might just find that the quiet they seek
is not external after all.
Options:
Quietude and disquietude are conditions related to
% one’s state of mind, feelings and thoughts.

People go seeking for peace and quiet, lacking it in
% their minds and hearts.

Nature might help people discover the fact that
quietude is in them and not outside, just as an
» ideology is.
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Only city-dwellers would head out to nature as they
are the ones who would aspire for and seek
% ‘quietude’.

Question Number : 113 Question Id : 7230531041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The fifth paragraph develops which of the
following jdeas?

Options:

Sounds of animals in nature are unobtrusive, unlike
% those of the cities.

Designated wild areas and nature parks would
» brovide the inexpensive joy of ‘natural quiet’.

Natural quiet became important to conservation

movements which came into being in the 20t
% century.

Natural parks provided people sick of the “sounds of
life” the opportunity to hear and enjoy the ‘sounds’
% of animals.

Question Number : 114 Question Id : 7230531042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What did the “wise use” advocates of the late 208
century hope for?

Options:

The coterminous existence of industrial and

- natural sounds.

That both human sounds and sounds of nature could
» €Xist as a synced stereo.

That human noise would upset the ecology of
% hature’s quietude.

That both human sounds and the quietude of nature
# could coalesce.
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Question Number : 115 Question 1d : 7230531043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is FAL SE?
Options:
The sounds of civilised society can be more
« comforting than the sounds of nature.

Definitions of noise and quietude differ both,
% according to perception and predisposition.

The noise of wild nature being civilised is more
welcome to everybody than the dangerous quiet of
« wild animals.

That European settlers in America found the noise of
an axe striking a tree sweet proves attitudes to noise
% are a matter of ideology too.

Question Number : 116 Question Id : 7230531044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is true?
Options:
Ideology influences noise-perception more
% significantly as civilisation advances.

WNoise is not defined or seen in terms of decibels as
% the term is restricted to scientific use.

Modernists are right in arguing that development is
+ heard in industrial sounds.

The preindustrial human sounds of the village clock
or the cowbell can be irritating to the ear of a rustic
% dweller.

Question Number : 117 Question 1d : 7230531045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

According to the passage. "noise is as much a matter
of ideology as decibels’. Extending this, which one
of the following options will encompass both and
disturb us as noise.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Options:
% A child crying in a public place

% A couple quarreling in the market
« A jet flying overhead

» A bomb detonated in a quarry

Question Number : 118 Question Id ;: 7230531046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following options provides an
accurate interpretation of the following statement?

In 1990, future Interior Secretary Gale Norton argued
for the “right to make noise”—for example by
enjoving the natural world from the seat of a
snowmobile.
Options:
This statement exemplifies the hope that it is
possible for human sounds to coexist with nature’s
o sounds.

This statement adds a new feature to the hope that it
is possible for human sounds to coexist with nature’s
% sounds.

This statement takes the attention away from the
hope that it is possible for human sounds to coexist
% with nature’s sounds.

This statement negates the hope that it is possible for
% human sounds to coexist with nature’s sounds.

Question Number : 119 Question Id : 7230531047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the most appropriate meaning of the
highlighted word in the sentence below, according to
the context in which it is used in the passage:

Hawthorne wrote, “It brings the noisy world into the
midst of our slumberous peace.”
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Options:
% Nocturnal

« Refreshing
» Lethargic

% Quiet
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Question Number : 120 Question Id : 7230531048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the correct synonym of the highlighted word
in the sentence given below. according to the context

in which it is used in the passage:

Coates notes that European settlers in America found
the noise of an axe striking a tree an “aural victory

over howling wilderness.”

Options:
% honking

# brash
% spiteful

» Wailing

Group Number :
Group Id:

Group Maximum Duration :
Group Minimum Duration :

Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Section Id :
Section Number :
Section type:

Subject Related

7
72305352
0

0

No

No

0

20

Subject Related

72305352
1
Online



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section |1d:
Question Shuffling Allowed :

Mandatory
2

2

20

Yes

No

1
72305376
Yes

GET IT ON
Google Play
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Read the following passage and answer questions.

On the popular Twitter hashtag #notalion, medieval historians and
aficionados share the most un-leonine lions from the Middle Ages.
One on the edge of an illuminated manuscript smiles gently, its flat
face almost human; another from the 11% century seems to smirk with
pride at the glory of his mane that radiates like the sun.

Why do these lions look, well, not like lions? In early Christian and
Romanesque sculpture, “the physiognomy of the lion gradually loses
more and more of its animal aspect, and tends, though quaintly. to the
human.” The obvious explanation is that there weren’t that many lions
in medieval Europe to model for artists, and the accessible
representations for copying had the same lack of realism.

However, an art historian points out, there actually were a number of
lions on the continent, imported from Africa and Asia: There are many
accounts of their presence and even their breeding, first at various
courts and then in the cities; they were kept in Rome by the popes as
early as 1100. The city of Florence had lions in the 13th century; lions
were at Ghent’s court in the 15% century. So, it’s not impossible that
first-hand accounts of lions were available to artists — an artist made a
drawing of a lion ‘al vif [‘from life’] in the 13t% century — though
where he saw the animal is unknown.

The inaccuracy of medieval lions may have been a stylistic preference,
particularly in a bestiary, or compendium of beasts. Because the artists
chose to illustrate the animals rather than their accompanying
moralisations, they had more freedom of choice in their imagery. For
example, the picture in the 12% or 13%-century Ashmole Bestiary, in
which a big lion is depicted as cowering in terror at a rooster, relates
this supposed cowardly attribute of the lion!

Lions were also prevalent on medieval door knockers, where they were
represented as stern guardians. They regularly appeared on the
heraldry of European royalty, their predatory poses symbolising
authority and a noble independence. There was likely some hearsay
involved in the imperfect medieval lions, yet the artists were often
breaking with nature to express an idea. Rather than mistakes, these
#notalion specimens can be viewed as artistic decisions, albeit ones
which appear delightfully strange to our modern eyes.

Sub questions

Question Number : 121 Question Id : 7230531050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What is the passage about?

Options:
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The popular Twitter hashtag #notalion and its sharing

of medieval lions, which are abnormal. anthropoid

and are strange not only to the modern eye but to the
% artists of that time too.

The portrayal of lions in medieval Europe in unreal

terms is to be seen as a stylistic preference and an

expression of artistic freedom, and to be traced to the
% absence of lions then.

Europe had real lions during the middle ages as
models for their drawings, yet artists’ medieval lions
are not leonine enough, but this could not be an

% expression of values associated with them by artists.

While illustrations of medieval lions are strange,
their oddity being not traceable to the absence of
lions, and are ineffable as other representations have
normal expressions, they could be expressions of

« artists’ values.

Question Number : 122 Question Id : 7230531051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What does the author imply by the following
sentence from the passage?

In early Christian and Romanesque sculpture, “the
physiognomy of the lion gradually loses more and
more of its animal aspect, and tends, though quaintly,
to the human.”
Options:
Early Christians humanised animals to nullify any
» remnant of pagan influences.

Romanesque sculpture was highly imaginative and
# had *Man as the measure of all”.

There need not be or cannot be any logical
» explanation for the stated fact.

While the evidence is empirical, the reasons for such
» representations require conjectures and rationalisations.
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Question Number : 123 Question Id : 7230531052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What is the first paragraph about?
Options:

It discusses why medieval lions are so un-leonine in
« their representative illustrations.

It describes a phenomenon which is problematised in
» the paragraph that follows.

It defines medieval lions, where they are seen as
 illustrations and what is strange about them.

It debates the qualities of medieval lions as
« lepresented in illustrations.

Question Number : 124 Question Id : 7230531053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

When a big lion is depicted as cowering in terror at a
rooster, it is done so because:
Options:
the artists want to show the lion as a cowardly
% animal

» the artists are not required to offer any explanations

% the artists are not concerned with verisimilitude

the artist is merely illustrating a quality of a creature
« Tor a compendium

Question Number : 125 Question Id : 7230531054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which one of the following statements is true?
Options:
To give lions human emotions and expressions was
% hormal in medieval representations.
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Medieval representations of creatures lacked realism
« as symbolism was considered more important then.

That there is an illustration of a lion *from life’ in the

middle ages makes it necessary to consider an

explanation from the artist’s point of view to explain
+ humanoid lions.

Both, Twitter #tags and strange and funny artistic
» decisions are subject to scrutiny for approval.

Question Number : 126 Question Id : 7230531055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is FAL SE?

Options:
The use of lions in heraldry and knockers reveal the
% love of lions in medieval ages.

Stylistic preferences of artists cannot be discounted
» When examining medieval lions’ strange expressions.

Lions were bred and kept in medieval rich houses,
% perhaps as pet animals.

The physiognomy of the lion shares many features
» With the physiognomy of humans.

Question Number : 127 Question Id : 7230531056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following inferences may be made
from this sentence in the passage?

“They regularly appeared on the heraldry of
European royalty, their predatory poses symbolising
authority and a noble independence ...”

Options:
Authority and nobility were associated with a
» bredatory nature.

% Only predators could have authority and nobility.
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% Authority, nobility and a soft nature go hand in hand.

Only a stern and strong person can exude authority
% and nobility.

Question Number : 128 Question Id : 7230531057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following options provides an accurate
paraphrase of the following statement?

It’s not impossible that first-hand accounts of lions
were available to artists.
Options:
First-hand accounts of lions would have been
% available to artists

First-hand accounts of lions should have been
% available to artists

First-hand accounts of lions may not have been
% available to artists

First-hand accounts of lions could have been
+ available to artists

Question Number : 129 Question Id : 7230531058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the most appropriate meaning of the
highlighted word in the sentence below, according to
the context in which it is used in the passage:

Because the artists chose to illustrate the animals
rather than their accompanying moralisations. they
had more freedom of choice in their imagery.

Options:
% Reformations

% Ethics

» EXplanations
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# Sermons

Question Number : 130 Question Id : 7230531059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the correct synonym of the highlighted word
in the sentence given below, according to the context
in which it is used in the passage:

Lions were also prevalent on medieval door

knockers, where they were represented as stern
guardians.

Options:
# Selected
» Portrayed

% Replaced

# Meant

Sub-Section Number: 2
Sub-Section Id: 72305377
Question Shuffling Allowed : Yes

Question Id : 7230531060 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (131 to 140)
Cuesticon Label | Comprehension
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Read the following passage and answer questions.

Readers of adventure stories such ‘Treasure Island’ or ‘Sherlock
Holmes® might remember how the seemingly harmless “black spot.” a
mere scrap of paper, or an envelope of just five orange pips, were a
palpable source of fear for those who knew the code of the secret
society who used them. Being singled out, or “marked for death” in
this way, rather than an obscure joke, was nothing less than a threat for
those who understood the symbol. Language can encode many more
nuances than just literal meanings or grammatical functions, even
when it comes to humble punctuation, secret languages or the register
of a particular subculture.

Interestingly, even in ordinary, everyday language use, the very words
and expressions we use are already marked for our cultural and social
biases, so much so that we’re often not even aware of it. It reveals our
underlying assumptions about what we may consider normal, default,
regular—even positive or desirable in certain contexts. This has an
impact on how we view their opposites—the abnormal, unusual,
irregular, negative, undesirable. Take a pair of simple antonyms. such
as happy/unhappy. The word “happy” is considered more of a default,
normal, perhaps more desirable state in English, while “unhappy™ is
considered more “marked.” and we know this because it’s actively
morphologically marked with a prefix — un.

This idea, known as markedness, is a concept that is applied from
linguistics to psychology, cognitive science and sociology; the concept
is particularly useful for describing certain contrasts and constructs. To
put it very simply, the insight into markedness is this: in a contrasting
pair, you might expect an equal binary relationship, but you’ll often
find that the relationship is not equal, it’s asymmetric. One is usually
considered generic (the unmarked) and in many cases, is a default state
favored above the other (the marked).

Unmarked words in English are often favored as more positive, such as
in happy/sad, friendly/unfriendly, clean/unclean or dirty, even when
there may be no overt morphological marking. Researchers have noted
how pairs like man/woman, while considered politically or socially
equal, linguistically are unequal, not just because “woman” is marked,
but because “man” can still be understood as a generic for the human
race while “woman” is never used in that way.

It’s revealing how we mark these words in common expressions that
are not even politically charged at all, like **she’s four feet tall™!

Sub questions

Question Number : 131 Question Id : 7230531061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What is this passage about?

Options:
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It introduces and defines the concept of markedness.
explains its forms. functions and semantic potential
» in common usage, with the help of examples

It shows how language is full of default assumptions
and is used to indicate status and establish power
% equations, markedness being one such thing

It describes how the use of codes creates markedness
and defines and exemplifies it and explains how it is
% a linguistic phenomenon

It introduces and explains markedness with
examples, and explains how using binary codes
% brings it to play across social domains

Question Number : 132 Question Id : 7230531062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The concept/construct of markedness is used in
psychology. cognitive science and sociology. Study
the examples below and identify the option in which
markedness cannot be perceived:

Options:
Lady indicates respect; girl, affection; woman could
% be pejorative

» Brunch sounds officious: lunch. expansive

Bedouin is respectable; nomad is neutral; gvpsy is
« pejorative

Tests indicate teachers and schools: examinations.
% public agencies

Question Number : 133 Question Id : 7230531063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The third paragraph
Options:
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shows how binaries, contrasting pairs and default
values characterise markedness as a concept and
& construct.

argues that binaries, contrasting pairs, and default
values characterise markedness as a concept and
% construct.

compares and contrasts default and marked values
» and the lack of symmetry that underlies markedness.

exemplifies how markedness is used to distinguish
« between default assumptions and loaded meanings.

Question Number : 134 Question 1d : 7230531064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that is FAT SE and makes a wrong
claim.

Familiarity with markedness helps us understand

Options:
% the binaries that operate in languages

« the default values that words carry
% how to load special meaning on words

» the codification of language-systems

Question Number : 135 Question Id : 7230531065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which one of the following statements is FAL SE?
Options:

% “She is four feet short” is an ambiguous statement.

‘Sheep’ and “Goats” are a marked pair in what they
% connote,
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Markedness refers to how we process the differences
# inherent in a word in our mind

Cognitive Psychology does not recognise
 markedness,

Question Number : 136 Question Id : 7230531066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following statements is FALSE?
Options:

Codes have to be symbolic in nature if they have to
% communicate information.

Markedness questions the very existence of
» antonyms in a language.

The pair *witch/wizard’ reveals social and cultural
« bias — pejorative versus admiration.

Defining and non-defining relative clauses,

superficially distinguished through the presence or

absence of commas, are an example of markedness
% I grammar.

Question Number : 137 Question Id : 7230531067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the option that completes the statement
INAPTLY/ UNACCEPTABLY:

When we linguistically mark something
Options:

we are essentially qualifying it as a *‘specialised”
% form

% We are trying to establish the norm and the atypical
»» We are not sure of the “generic” form

% We have assumptions about ‘default’ and ‘exception’
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Question Number : 138 Question Id : 7230531068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following options provides an
accurate interpretation of the following statement?

Readers of adventure stories such “Treasure Island’
or “Sherlock Holmes’ might remember how the
seemingly harmless “black spot,” a mere scrap of
paper. or an envelope of just five orange pips, were a
palpable source of fear for those who knew the code
of the secret society who used them.

Options:
Secret societies in fiction used to convey threats in a
» code. shared among the members of the society only

Secret societies, such as the mafia. convey threats
only in an unfamiliar code, shared among the
» members of the society only

The use of codes and secret signals were restricted to
# secret societies in novels

Language is a code: codes are reduced languages,
 initially described in popular fiction

Question Number : 139 Question Id : 7230531069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the most appropriate meaning of the
highlighted word in the sentence below, according to
the context in which it is used in the passage:

It’s revealing how we mark these words in common
expressions that are not even politically charged at
all, like “she’s four feet tall™!

Options:
% EXposing

» Divulging

» lelling
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Question Number : 140 Question Id : 7230531070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the correct synonym of the highlighted word
in the sentence given below, according to the context

in which it is used in the passage:

Language can encode many more nuances than just

literal meanings.
Options:
« Shades

% Qualities

% Points

% Traces
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Read the passage givenbelow and answer questions.

Nationalisim and national identity are not just ideological
constructs. Rather. they are created and enforced through a
bureaucracy that produces censuses. surveys and identity
documents. This bureaucracy and its technologies of surveillance
(photography. fmgerprinting, statistics) are very recent, but they
have become an indelible part of our Iives. Holding a passportis a
sign of citizenship orlegal residency recognised by any other
sovereign state m the world.

But even before modem states could attempt to control the
movement of their populations. people weren’t free to move around
as they pleased. For most of lustory. large segments of the
population. mclidmg serfs. slaves. and mdentured servants.
required privately created passes or papers to legitimate their
movement. But as the global economy expanded. and New World
frontiers and early mdustrial factories developed an insatiable
demand for labor. these private controls fell away. The Furopean
empires of the late 19th century mposed new rights.
responsibilities. and identities on ther citizens through education.
conscription. and taxation. The prevailing hberalism. the vagueness
of nationality m an mnperial context. and the lts of swveillance
meant millions upon nullions were able to move to settler colonies
m the Americas. South Africa and Oceania—mwith often the notable
exchision of Asians.

This diplomatic-surveillance regime changed after WWI. Nation-
states clammg to represent exclusive nationalities replaced
empres. The nise of commmnist parties in Russia and elsewhere m
Europe gave rise to suspicion of foreign agents. Moreover. the
demand for labor was easmg. National workmg classes constituted
political mterest groups that protested the labor competition of new
mmugrant classes.

With the hardenmng of border seciuity and mmmigration quotas
between these new nation states. and the spread of cheap
photography, passports became both standardised. mandatory travel
documents and ritual tools remforcmg national identity. Indeed.
holders of passports from more powerful nations enjoy privileges
abroad that others do not. Meanwhile. many of the fragments of
empmes that failed to form nation states. or unwanted mmority
groups. have at times been made “stateless™ populations. These
groups have ranged from Russian expatriates after the Bolshevik
Revolution, to European Jews during the Holocaust and Palestiian
refugees after the creation of Israel. Lackmg a passportm a
worldwide system of nation states is the ultumate negation of
agency.

But national identity doesn’teven mean all that it used to. Much of
the new nationalism expressed as xenophobia and racism is rooted
n nostalgia. accurate or not. for a time when national membership
meant certam shared experiences and rights bridgmg social classes.
The march of de-mdustrialisation, the declne of welfare services
and the widenmg of mcome mequalty mean that the global elite
are everywlere carving out private zones of privilege guarded by
fences and private security. The value of a passport as diplomatic
currency is losing ground to another currency—the almighty dollar.
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Sub questions

Question Number : 141 Question Id : 7230531072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that sums up the ideas and views
expressed in the passage correctly and fully:

Options:
Passports reify national identities: they helped
surveil people and their movements but now control
their migration and travel: they can be used to offer
or deny exclusive privileges of citizenships which
» themselves can now be bought.

A passport means vou are the citizen of a world; like
passes and permits, it enables the state to check and
monitor your movement. Passports have become

% common and are obligatory tokens of identity.

Tracing the origins of passports and understanding

the changes geopolitics experienced would show that

passports offer privileges which become noticeable
% only when one is denied a passport.

Empires and nations of the world have always kept
an eye on the movements of their people — the Indian
toll-gates prove that. A passport helps them do this

% Systematically.

Question Number : 142 Question Id : 7230531073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the main idea discussed in the fourth
paragraph.
Options:
There is a class division in passports themselves —a
Bangladeshi passport and a Swedish one are not
% ‘equal’ in their diplomatic reach and influence.

Passports opens many a door and provides many an
opportunity; lack of a passport closes all such doors
% and deny one all opportunities.
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Passports and national identities are intertwined, so
the absence of one will mean the absence of the

s other.

In the present world, passports are mandatory, and
they help establish national identity: ‘stateless” and
‘powerless’ human beings can be empowered with a

.~ bassport.

GET IT ON
Google Play

Question Number : 143 Question Id : 7230531074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Nationalism and national identity are not just
ideological constructs but

Options:

are problematic conceptions as they engender racism

» and xenophobia

have become practical issues/considerations in the
» world of passports

are manifested practically as documents developed
by bureaucrats to create and maintain national

% lidentities

are a way of conducting evervday life in the modern
» Wworld by contemporary man

Question Number : 144 Question 1d : 7230531075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The vagueness of nationality in an imperial context

Options:

% Wwas caused by the absence of passports
% did not affect the people of Asia
% resulted in the collapse of empires

» enabled migration and the advent of new colonies
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Question Number : 145 Question Id : 7230531076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements is true according
to the passage?
Options:
Privileges and rights are conferred by nations only to
« passport holders.

Dollars cannot replace passports even though they
» have greater purchasing power.

Photography, fingerprinting and statistics were
« brought into passports by bureaucrats.

Immigration quotas in the USA at present are a by-
% product of the enhanced status of American passports.

Question Number : 146 Question Id : 7230531077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statements is FALSE
according to the passage?
Options:
Education. conscription and taxation were methods
used by sovereign nations to enforce citizens’
« Identity.

The spread of cheap photography helped
» standardisation of passports.

Settler colonies in the Americas, South Africa and
Oceania were created by nation-states before
» Passports became a norm.

Political parties which depended on labor unions
protested the labor competition of new immigrant
% classes.

Question Number : 147 Question Id ;: 7230531078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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What happens when the country of your origin
ceases to exist as an independent nation. according to
the passage?
Options:
You become part of a fringe group, are tagged

‘stateless’ or ‘non-state” and suffer reduced status as
% a citizen of the world.

Your country cannot issue passports which other

nations will recognise and thus deprive you of the

free will to act, compelling vou to become a refugee
» Or a dependent.

You have no identity and you are not free to move;
% Vou stagnate and become powerless to act.

You become a citizen of another country after
immigration; you are now seen as a refugee and a
% stateless being.

Question Number : 148 Question Id : 7230531079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following options provides an

accurate interpretation of the statement given
below?

The value of a passport as diplomatic currency is
losing ground to another currency—the almighty
dollar.
Options:
A passport is becoming cheaper even while the dollar
« 1s gaining more power and influence.

Today dollars are all powerful and influential; once
% upon a time, passports used to be so.

Where a passport opened the doors of alien nations
due to diplomatic exigencies. there the all-powerful
» dollar now opens such doors for the privileged.
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As money is becoming an object of worship,
relationships between nations are souring and have
% become insignificant.

Question Number : 149 Question Id : 7230531080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the most appropriate meaning of the
highlighted word in the sentence below, according to
the context in which it is used in the passage:

Much of the new nationalism expressed as
xenophobia and racism is rooted in nostalgia.

Options:
« Based on

% Embedded in
# Setin

% Surrounded

Question Number : 150 Question Id : 7230531081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the correct synonym of the highlighted word
in the sentence given below, according to the context
in which it is used in the passage:

Nation-states claiming to represent exclusive
nationalities replaced empires.

Options:
% Special
» Specific

% Controlled

% Chosen

Sub-Section Number: 2
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Read the passage below and answer Questions.

Children’s books may not form part of the recruitment process for
most businesses. but for shoe repair and key-cutting business
Timpson, the key to its hiring process is whether the prospective
candidate resembles say. Mr Happy or Miss Quick, characters in
children’s books. “Other than specialist roles in finance or IT, we really
don’t bother about CVs or qualifications and we certainly don’t take
much notice of the words written on an application form.” Timpson
says. “The only thing that matters is personality.”

As well as more unorthodox methods, firms are turning to Al and other
forms of tech to recruit. L’ Oreal has introduced virtual reality to its
approach, whereby graduates don a headset, take a virtual tour of the
French beauty giant’s offices, and experience a virtual meeting while
having their personality and judgement assessed. Byte London, a
marketing technology agency. recently introduced a chatbot (a
computer programme that conducts a conversation) to help find
employees. Replacing the initial application process, the Facebook
Messenger chatbot, named Space Gentleman, asks applicants a series
of 10 questions such as: “Do you have the right to work in the UK?”,
“We wanted to reduce the cost of hiring candidates, improve the
quality of candidates applying to Byte and make the application more
enjoyable.” He adds: “We’re also using it as a soft sell for the agency’s
personality, helping people work out if they’d be a good fit.”

Last year, the mini bakery store chain Bagelman ditched the CV as part
of the recruitment process, instead encouraging prospective staff to
attend a recruitment workshop. where the company could identify
people who matched the job. “We were hiring individuals who looked
great on paper with impressive qualifications, but it soon became
apparent they didn’t share our values. We realised that no matter the
qualifications on the CV, it was the person in front of us that mattered.”
Now Bagelman runs workshops where candidates have to participate in
various set tasks. “Candidates who stand out for us will show great
customer service, the ability to think on their feet and retain
information. A CV can’t show us any of that and is open to
mterpretation.”

Chris Rowley, a professor at Cass Business School, says companies
should be more creative with recruiting but warns that while some
methods can reduce the problems with CVs and applications forms,
which he says have “poor reliability as predictors of job performance™,
you need to be able to justify that decisions are not based on
characteristics such as gender, ethnicity or age, but on the job criteria.
He advises companies use a mix of CVs, application forms, and semi-
structured interviews and tests.

Sub questions
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Question Number : 151 Question Id : 7230531083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the main idea that the passage develops?
Options:
As times are changing, and as CVs and applications
do not give a clue to the actual skills of applicants,

modern business firms are successfully using novel
» recruiting methods.

Companies are doing everything to recruit a good
employee, using children’s literature, virtual reality,
chatbots and even workshops. CVs and letters of

% application are not to be trusted.

Small business networks have intelligently started
adopting advances in technology to recruit people;
admittedly, CVs and applications have poor

» reliability, but they need not be done away with.

Personality and on-the-job-performance are more

important than academic qualifications and so smart

business networks use smart techniques and modern
% methods to recruit.

Question Number : 152 Question Id : 7230531084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
CVs and application forms
Options:
are no longer credible or indicative of skills
% possessed

are ignored by modern business networks as they are
« ancient methods of recruiting

are not capable of defining personality which is
» crucial in the job market

are poor reflectors of future ability and have to be
replaced partially or wholly with other recruitment
% methods
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Question Number : 153 Question Id : 7230531085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A marketing technology agency recently introduced
a chatbot (a computer programme that conducts a
conversation) to help find employees. What will
chatbots be able to reveal? What can’t it access and
show?
Options:
A computer programme that conducts a conversation
cannot be very different from Napoleon’s recruiting
w methods for soldiers: it lacks flexibility.

A chatbot can sell the company’s soft skills and help
in the initial selection of candidates; but it cannot
» reveal their skills or help final selection.

Use of a chatbot will reveal the attitude of candidates
to computers; but it will not help reveal their attitude
% in the real world.

A chatbot will be economical and a time- and cost-
saving technique; but computers cannot say whether
% candidates are prevaricating or not.

Question Number : 154 Question Id : 7230531086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following options is
UNACCEPTABLE and FALSE and will NOT
complete the statement correctly?

Recruitment workshops

Options:
cast a better net than chatbots, virtual tours or
‘resemblance familiar characters® when it comes to

recruiting chefs, but may not be enough to recruit
% other professionals.

are like ‘demonstration lessons’ used to hire teachers,
however what is demonstrated may not indicate what
» Will be needed on the job.
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and appointing apprentices serve similar purposes —
 fitting man for machine.

are a novel and non-traditional method of selecting
the right people in terms of the jobs they will

% perform.
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Question Number : 155 Question Id : 7230531087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Why are new methods of hiring cost-efficient?

Options:

Thev adopt selection methods that are tailored for
their needs, with an awareness of the required profile
» of future employees.

The cost of initial filtering is negligible and the
process itself is fast. making the new methods
% cheaper and faster.

Thev don’t depend on CVs and application forms
« alone, but employ interviews and tests.

There are no tests or face-to-face interviews
» requiring travel for all, thus saving a lot of money.

Question Number : 156 Question Id : 7230531088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which of the statements below is true in light of your
understanding of the passage?

Options:

Resemblance to children’s favorite character is a
% good predictor of future performance in all jobs.

Reactions while being taken on a virtual tour will
always reveal aspects of one’s personality and
% aftitude which are crucial on-the-job requirements.
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CVs and application forms have become useless and
obsolete in the world of computers. Al and virtual
« reality.

Chatbots can work like initial questionnaires and
» help filter out completely unfit applicants.

Question Number : 157 Question Id : 7230531089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following inferences may be drawn
from the following statement?

Chris Rowley warns that vou need to
be able to justify that decisions are not based on
characteristics such as gender. ethnicity or age. but
on the job criteria.

Options:
Gender; ethnicity and age are not acceptable criteria
% for recruitment.

Gender; ethnicity and age are not as reliable as the
« CV for recruitment.

Gender; ethnicity and age are reliable criteria for
# recruitment.

Gender; ethnicity and age are just as reliable as job
% criteria for recruitment.

Question Number : 158 Question Id : 7230531090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following options provides an accurate
interpretation of the following statement?

CVs and applications forms have “poor
reliability as predictors of job performance”.
Options:
CVs and applications forms are trustworthy and are
» highly prophetic in their indications
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CVs and applications forms are tokens of lovalty but
» are poor clairvovants of future performance

CVs and applications forms are constant and so they
% cannot be analysed to recruit people

CVs and application forms are not un-dependable per
se but they cannot tell beforehand how someone will
» berform later

Question Number : 159 Question Id : 7230531091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the meaning that is closest to the highlighted
word in the sentence below, according to the context
in which it is used in the passage:

As well as more unorthodox methods, firms are
turning to AI and other forms of tech to recruit.
Options:

% Heretical

» Blasphemous

« Innovative

# Rebellious

Question Number : 160 Question Id : 7230531092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the correct svnonym of the highlighted word
in the sentence given below, according to the context
in which it is used in the passage:

L’Oreal has introduced virtual realitv to its
approach, whereby graduates don a headset.

Options:
» Holy

% Righteous


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

« Simulated

# Fake
subject Eelated

Group Number : 9

Group Id: 72305354

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subiject Related

Section Id : 72305354
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 72305380
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7230531093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks to make the following sentence complete. correct and meaningful:

there is a major hiccup in the next few days, an incredibly powerful company will shortly be given a license to
dominate world farming.

Options:
# Until
» Although

« Unless
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# Asif

Question Number : 162 Question Id : 7230531094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks to make the following sentence complete, correct and meaningful:

powerful lobbying in Europe and political arm-twisting on several continents, the path has been cleared
for Monsanto, the world’s seed company, to be taken over by Bayer.

Options:
% Subsequent to; lot of; larger

% Subsequent; a lot of: largest
% Subsequent to; lots of; largest

» Subsequent to; a lot of; largest

Question Number : 163 Question Id : 7230531095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks to make the following sentence complete, correct and meaningful:

Bayver-Monsanto will have an indirect impact every consumer and a direct one most farmers

Britain, the EU and the US. It will effectively control most the world’s GM crop genetic traits, as well as much
of the data what farmers grow where, and the yields they get.

Options:

% 10; on; on; of; about
» on; on; in; of; about
% on; in; in; of; about

% In; on; on: by; about

Question Number : 164 Question Id : 7230531096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks to make the following sentence complete, correct and meaningful:

Backed governments and enabled world trade rules and intellectual property laws, Bayer-Monsanto has
been allowed to control much the world’s supply seeds.

Options:
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« by:at; of: at
% at: by; of; of
% by: by; at; at

» by: by: of: of

Question Number : 165 Question Id : 7230531097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks to make the following sentence complete. correct and meaningful:

The corporates that only consolidation the development of better seed varieties and the innovations
needed to avert global hunger and malnutrition, as the world population to around 10 billion people in a few
decades’ time.

Options:
»» argue; can bring: climbs

% argued; could bring; climbs
% argue; can bring: climbed

% argue; brings; climbs

Question Number : 166 Question Id : 7230531098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» 15 not philanthropy and the extension of an age-old
% social stability and dietary diversity for many

% Svystem of mutualised farming that has provided

% the seed-sharing of “*landraces™, or local varieties,

Question Number : 167 Question Id : 7230531099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» of effective ecological and political defiance upon

% the community seed bank is a living repository
% the immense reach of the likes of Monsanto and Baver

% of hundreds of Indian rice varieties and also an act

Question Number : 168 Question Id ;: 7230531100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» the legal and biological grip of seed corporates

« tarther the small farmer who used to feed the world

% on global farming will tighten, threatening

% environmentalists in developing countries say

Question Number : 169 Question Id : 7230531101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
« grows forgotten crops and is the antithesis of
» Bayer and Monsanto whom concentrate on

% an Indian plant researcher Debal Deb

% developing a small number of blockbuster staple crops

Question Number : 170 Question Id : 7230531102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» are less likelier to go to war

% richer than non-democracies,
% and have a better record of fighting corruption

5 democracies are on dverage

Question Number : 171 Question Id : 7230531103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
% their affinities for such laws to hold very broadly

» unlike atoms, are not consistent enough in
% of universally applicable laws, but humans,

» the dictates of logic requires the existence

Question Number : 172 Question Id : 7230531104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» but much ideas almost always fail precisely because
% history records many well-conceived and apparent

% logical grand plans for the betterment of mankind

» they are logical, ignoring human beings® whims and greed

Question Number : 173 Question 1d : 7230531105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
» hew technologies and have paid a little attention to farmers” traditional knowledge.

 1f the world is to adapt to climate change and population growth.
% governments and research organisations are blinded by the prospect of

« a veritable storehouse of wisdom. which is essential

Question Number : 174 Question Id : 7230531106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
% 4 to 5 ft of water, and dozens that are drought-tolerant,

» besides many varieties that can grow in brackish water
% Deb has discovered rice varieties that are capable of

« growing in 12ft of water. some that can grow in

Question Number : 175 Question Id : 7230531107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Parts of a sentence (or two) are given as options and they are jumbled up. One of the options contains an error that
renders the unjumbled sentence wrong and ungrammatical. Identify the part/option which contains the error:

Options:
% and only gives his seeds to people he trusts
» Deb kept the exact location of his farm secret

% and that companies want to claim them as their own

% claiming that spies have been sent to steal his seeds

Question Number : 176 Question Id : 7230531108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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In the sentence given below a phrase/clause is missing, indicated through a blank. Identify the option that can fill in the
blank and complete the sentence correctly and meaningfully:

Instead of working in a well-funded research institute, Deb is now part of the worldwide farmers’ movement to
limit corporate control and to redefine what knowledge is, and who owns it.

Options:
% as might be expecting of a Fulbright biotech scholar,

% as might be expected in a Fulbright biotech scholar.
» as might be expected of a Fulbright biotech scholar,

% as might be expected of Fulbright biotech scholar.

Question Number : 177 Question Id : 7230531109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the sentence given below a phrase/clause is missing, indicated through a blank. Identify the option that can fill in the
blank and complete the sentence correctly and meaningfully:

To point the finger at farming as the cause of environmental degradation through intensification makes no sense,
in that time — increased house building, more roads. and more cars on those roads — and the impact they have
had on the country’s landscape.

Options:
« though when vou consider the other changes that have taken place

» especially when vou would have considered other changes that have taken place
% particularly when vou considered the other changes that have taken place

» especially when you consider the other changes that have taken place

Question Number : 178 Question Id : 7230531110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the sentence given below a phrase/clause is missing, indicated through a blank. Identify the option that can fill in the
blank and complete the sentence correctly and meaningfully:

Improving the way we farm in harmony with wildlife, while not decreasing food production, that focuses purely
on agriculture.

Options:
% must not be achieved through any sort of knee-jerk blame game

» Will not be achieved through some sort of knee-jerk blame game
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% Will not be achieved on some sort of knee-jerk blame game

% should be achieved through some sort of knee-jerk blame game

Question Number : 179 Question Id : 7230531111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the sentence given below a phrase/clause is missing, indicated through a blank. Identify the option that can fill in the
blank and complete the sentence correctly and meaningfully:

I was shocked to find a six-vear-old girl who did not know what a potato was. She agreed that she liked eating chips and
crisps, but was very skeptical that

Options:
» this hard, dirty brown thing had anything to do with them

 this dirty, hard, brown thing have anything to do with them
% this hard, dirty brown thing have anything to do with them

% the brown, hard, dirty thing had everything to do in them

Question Number : 180 Question Id : 7230531112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the sentence given below a phrase/clause is missing, indicated through a blank. Identify the option that can fill in the
blank and complete the sentence correctly and meaningfully:

There is actnally quite a broad consensus on many of the most fundamental questions of public life: and in

politics there is a similarly support for representative democracy and governments that place a high value on fairness
and diversity.

Options:
% 10 economics there is a wide support for a regulating market economy flanked by a big state
% in economics their is wide support for a regulated market economy flanking by a big state

% 10 economics there is wide supported for a regulated market economy flanked by a big state

.~ in economics there is wide support for a regulated market economy flanked by a big state

Subiject Related
Group Number : 10
Group Id: 72305355
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Question Number : 181 Question Id : 7230531113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that converts the statement below into a question, without any distortion:

We describe the variety of ecological and evolutionary consequences that may result from humans encountering
wildlife.
Options:

Do we describe the variety of ecological and evolutionary consequences that may result from humans encountering
« wildlife?

Shall we describe the variety of ecological and evolutionary consequences that may result from humans encountering
wildlife?

®

Can evolutionary consequences result from humans encountering wildlife and do we describe the variety of ecological
w and evolutionary consequences?

May we describe the variety of ecological and evolutionary consequences that may result from humans encountering
wildlife?

#®

Question Number : 182 Question Id : 7230531114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the option that converts the statement below into a question, without any distortion:

If all school children were given free, healthy breakfasts and lunches they would have less room in their stomachs for junk.

Options:
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 If all school children were given free, healthy breakfasts and lunches, should there be any room in their stomachs for junk?
 If all school children were given free. healthy breakfasts and lunches. would they have any room in their stomachs for junk?
« If all school children were given free, healthy breakfasts and lunches, could they have some room in their stomachs for junk?

s 1T all school children were given free, healthy breakfasts and lunches. would they have much room in their stomachs for junk?

Question Number : 183 Question Id : 7230531115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the option that converts the statement below into a question. without any distortion:

America’s sustainable food movement has been steadily growing yet the movement is predominantly white.

Options:
% Unless America’s sustainable food movement has been steadily growing, isn’t the movement predominantly white?

« Though America’s sustainable food movement has been steadily growing, is the movement predominantly white?
« Lest America’s sustainable food movement has been steadily growing, won’t the movement predominantly white?

» Though America’s sustainable food movement has been steadily growing, isn’t the movement predominantly white?

Question Number : 184 Question Id : 7230531116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the statement below into a question, so as to derive the highlighted part as the answer:

The expression *food desert” calls to mind desolate places, not places with enormous potential.

Options:
% When the expression *food desert” calls to mind desolate places, what does the expression fail?

% When the expression “food desert” calls to mind desolate places, what it does fail to evoke?

» When the expression “food desert’ calls to mind desolate places, what does the expression fail to evoke?

When the expression “food desert” calls to mind desolate places, why does the expression fail to evoke places with
« enormous potential?

Question Number : 185 Question Id : 7230531117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the statement below into a question, so as to derive the highlighted part as the answer:

The idea that giving people the ability to grow their own food and giving up soda for water would make people’s
conditions better is ridiculously naive.
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Options:
» Which idea to make people’s conditions better is ridiculously naive?

% Why is the idea to make people’s conditions better ridiculously naive?
» How is the idea to make people’s conditions better ridiculously naive?

% What is the idea to make people’s conditions better ridiculously naive?

Question Number : 186 Question Id ;: 7230531118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that restates the comparison using a positive adjective, without any change of meaning:

Nature-based tourism is huge as more people visit natural areas than there are people on Earth!

Options:
% Nature-based tourism is huge as there are as many people on Earth as those who visit natural areas!

% WNature-based tourism is huge as those who visit natural areas are not as many as there are on Earth!
» Nature-based tourism is huge as there are not as many people on Earth as those who visit natural areas!

% Nature-based tourism is huge as many people on Earth visit natural areas!

Question Number : 187 Question Id : 7230531119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that restates the comparison using a positive adjective, without any change of meaning:

We use the computers in our pockets, known as ‘phones’, more than those on our desiks or laps.
Options:
% The computers in our pockets. known as ‘phones’, are used as much as the computers on our desks or laps.

» The computers on our desks and laps are not used by us as much as those. known as “phones’. in our pockets.

% The computers on our desks and laps are less used by us than those, known as ‘phones’, in our pockets.

5 We use the computers on our desks and laps as much as those, known as ‘phones’, in our pockets.

Question Number : 188 Question Id : 7230531120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Identify the option that restates the given statement using the comparative adjective, without any change of meaning:

The beliet that everyone coding would solve anyone’s problems has been shown up as the most ludicrous one.

Options:
The belief that everyone coding would solve anyone’s problems has been shown up as very ludicrous than any other
% belief.

The belief that everyone coding would solve anyone’s problems has been shown up as much ludicrous than any other
% belief.

The belief that everyone coding would solve anyone’s problems has been shown up as more ludicrous than any other
o belief.

The belief that everyone coding would solve anyone’s problems has been shown up as much ludicrous as any other
# belief.

Question Number : 189 Question Id : 7230531121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that restates the given statement using the comparative adjective, without anv change of meaning:

Simple nature-based tourism is supposed to be not as good as ecotourism, natural-area tourism driven by concern for
environmental conservation. social welfare, and local economic development.
Options:

Ecotourism, natural-area tourism driven by concern for environmental conservation, social welfare, and local economic
« development, is the best tourism.

Ecotourism, natural-area tourism driven by concern for environmental conservation, social welfare. and local economic
 development, is supposed to be better than simple nature-based tourism.

Ecotourism, natural-area tourism driven by concern for environmental conservation, social welfare, and local economic
« development, is better than simple nature-based tourism.

Simple nature-based tourism is supposed to be as good as ecotourism, natural-area tourism driven by concern for
« environmental conservation, social welfare, and local economic development.

Question Number : 190 Question Id : 7230531122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identifv the option that restates the given statement using a positive adjective, without any change of meaning:

Wireless is the most preferred mode of operation today.
Options:
» No other mode of operation today is as much preferred as wireless.

% Wireless is preferred than many other modes of operation today.
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% Other modes of operation, unlike wireless, are not preferred today.

% A mode of operation much preferred today is wireless.

Question Number : 191 Question Id : 7230531123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The parts of a sentence given below, when rearranged, form a grammatical sentence. Identify the option that presents
the correct order:

A. and, tragically, never seen from the other half of the Earth

B. forever but at some point in the far future reach a stable

C. John’s hypothesis is that the moon will not retreat from Earth
D. distance when it will be visible only from one half of Earth

Options:
x D.C.B. A

i A C DR
& BCD.A

v CB,D,A

Question Number : 192 Question Id : 7230531124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The parts of a sentence given below, when rearranged, form a grammatical sentence. Identify the option that presents
the correct order:

A. “digital nutrition”, likens media diets to

B. what’s on our plates: rather than counting calories
C. or screen time, think about what you’re eating

D. a psychologist who specializes in the concept of

Options:
¢ D,A B, C

& BiCD.A
% CB.DA

x D,C,A B

Question Number : 193 Question Id : 7230531125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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The parts of a sentence given below, when rearranged, form a grammatical sentence. Identify the option that presents
the correct order:

A. the name ‘applied science’ could be given, but
B. there exists no category of science to which

C. we have science and the applications of science
D. which are united as the fruit is to the tree

Options:
%« B.C,D. A

x CBD,A
¢vB,ACD

x D,A B, C

Question Number : 194 Question Id : 7230531126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The parts of a sentence given below, when rearranged, form a grammatical sentence. Identify the option that presents

the correct order:

A. and far from being relaxing, having nothing to do, to get through

B. so many so-called “*empty workers™ find it really tough as

C. the day, they had to work on a novel, played video games or just slept
D. their workloads take up less than half the time spent at work

Options:
% C.B,D. A

x B,A,C,D
¢B,D,A,C

x BADC

Question Number : 195 Question Id : 7230531127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The parts of a sentence given below, when rearranged, form a grammatical sentence. Identify the option that presents

the correct order:

A. given that obesity is more prevalent among
B. in health inequality between the rich and the poor
C. lower socioeconomic classes, interventions
D. such as the Daily Mile could help to close the gap

Options:
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SJACD B
2 ABC, D
x C,B,D.A

#« D,C,A B

Question Number : 196 Question Id : 7230531128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the given sentence. using modal verbs, without any change of meaning or distortion:

The weather bureau announced the likelihood of the deep depression becoming stronger and the possibility of it turning
into a cyclone.

Options:
% The weather bureau announced the deep depression shall become stronger and would turn into a cvelone.

« T'he weather bureau announced the deep depression shall become stronger and must turn into a cyvclone.
» The weather bureau announced the deep depression might become stronger and could turn into a cyclone.

% The weather bureau announced the deep depression could become stronger and might turn into a cyclone.

Question Number : 197 Question Id : 7230531129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the appropriate modal verbs:

I wear the regimental sash to attend the funeral parade of my former Commander. So, I instruct my
orderly to keep it ready.

Options:
«% Mmust; have to
% have to: may

% may: must

» have to: must

Question Number : 198 Question Id : 7230531130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Fill in the blanks with the appropriate modal verbs:

The Judge pointed out to the plaintiff-wife. “The contract says to give alimony” — there is no obligation
or compulsion. Notwithstanding this. we admit what the contract savs earlier, * a stipend for her
lifetime’ which makes payments to you compulsory and obligatory.”

Options:
% may decide: shall; shall be given

« must decide; will: may be given
% Shall decide: shall; can be given

» may decide; have to; shall be given

Question Number : 199 Question Id : 7230531131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the appropriate modal verbs, making sure the sentences are grammatical:

The indifferent chocolate industry, if it wants, to prevent the spread of health myths associated with chocolate.
Chocolate is a treat you, as a rule, enjoy occasionally and in small portions. not a health food.
Options:

% Sshould do more; should
» could do more: should
% Wwill do more; would

5% st do more; can

Question Number : 200 Question Id ;: 7230531132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Identify the option that will fill in the blanks with appropriate modal verbs:

It is raining heavily. You go to school today.
Options:
% must not

% haven’t have to

« don’t have to
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% not have to

Subject Related

Group Number : 11
Group Id: 72305356
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20

Subject Related

Section Id : 72305356
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 72305382
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 7230531133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Convert and rewrite the sentence below into a compound one, with two independent clauses:

Slowly slices of Britain’s hidden history are being revealed as the public learn more and more about the activities of
undercover police officers.
Options:
Slowly slices of Britain's hidden history are revealed but the public learn more and more about the activities of
% undercover police officers.

Slowly slices of Britain’s hidden history are being revealed as the public are learning more and more about the activities
w of undercover police officers.

Slowly slices of Britain’s hidden history are being revealed and the public are learning more and more about the
o activities of undercover police officers.
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Slowly slices of Britain’s hidden history has been revealed and the public have learnt more and more about the activities
w of undercover police officers.

Question Number : 202 Question Id : 7230531134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert and rewrite the sentence below info a senfence with just one independent clause:

Some scholars are keen to believe that genuine traditions lie beneath the superficial literary encrustation, while others
are inclined to minimise these elements.
Options:

Other scholars are inclined to minimise these elements and some are keen to believe that genuine traditions lie beneath
« the superficial literary encrustation.

Other scholars being inclined to minimise these elements, some are keen to believe that genuine traditions lie beneath
 the superficial literary encrustation.

Some scholars are keen to believe that genuine traditions lie beneath the superficial literary encrustation, and others
% being inclined to minimise these elements.

Some scholars being keen to believe that genuine traditions lie beneath the superficial literary encrustation, others are
% inclined to minimise these elements.

Question Number : 203 Question Id : 7230531135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert the following sentence into a compound sentence:

The Children’s Commissioner has warned that social media firms must switch off addictive technology.

Options:
Warning that social media firms must switch off addictive technology. the Children’s Commissioner said that it
4 deliberately keeps children hooked online.

The Children’s Commissioner has warned that social media firms must switch off addictive technology and vet that it
 deliberately keeps children hooked online.

The Children’s Commissioner has warned that social media firms must switch off addictive technology but that it
« deliberately keeps children hooked online.

The Children’s Commissioner has warned that social media firms must switch off addictive technology and that it
» deliberately keeps children hooked online.

Question Number : 204 Question Id : 7230531136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert the following sentence into a compound sentence:

Without a bus service. a village dies. Some people can’t even stay in their own homes. They must go into care homes.

Options:
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 Some people are not able to stay in their own homes and having to go into care homes, a village, without a bus service, dies.

Some people not even being able to stay in their own homes and having to go into care homes, a village, without a bus
 service, dies.

Some people not even being able to stay in their own homes and have to go into care homes. a village, without a bus
w service, dies.

Not even being able to stay in their own homes and having to go into care homes. some people in a village, without a
5 bus service, dies.

Question Number : 205 Question Id : 7230531137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert the following sentence into a simple sentence;

Expensive train commutes are for the all-important middle class. while buses ferry about the poor

Options:
% Buses ferry about the poor, expensive train commutes are for the all-important middle class.

% Even as buses ferrying about the poor, expensive train commutes are for the all-important middle class.

« Buses ferry about the poor, expensive train commutes is for the all-important middle class.

» Buses ferrying about the poor, expensive train commutes are for the all-important middle class.

Question Number : 206 Question Id : 7230531138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert the following sentence into a compound sentence:

Most council leaders, who decide how to spend the transport budget, are men.
Options:

» Most council leaders are men and they decide how to spend the transport budget.
% Most council leaders, being men, decide how to spend the transport budget.

% Most council leaders are men but they decide how to spend the transport budget.

% Most council leaders are men because they decide how to spend the transport budget.

Question Number : 207 Question Id : 7230531139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
Convert the following sentence into a compound sentence:

A majority strongly self-identifies as English. The only subset exceptions, though they are important ones, are black and
minority-ethnic adults.

Options:
A majority strongly self-identifies as English yet the only subset exceptions, though they are important ones, are black
% and minority-ethnic adults.

A majority strongly self-identifies as English but the only subset exceptions, though they are important ones, are black
% and minority-ethnic adults.

A majority strongly self-identifies as English and the only subset exceptions, though they are important ones, are black
» and minority-ethnic adults.

A majority strongly self-identifies as English, even as the only subset exceptions, though they are important ones, are
« black and minority-ethnic adults.

Question Number : 208 Question Id : 7230531140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rewrite the sentence in direct speech into its corresponding reported speech:

“It has taken us all by surprise. Customers are saying can you do more,” he said. “I think the vegan and flexitarian
market is the first major food trend that has come out of social media.

Options:
He said that it had taken them all by surprise. He added that customers were asking whether they can do more. He
concluded that he thought the vegan and flexitarian market was the first major food trend that had come out of social
« media.

He said that it had taken them all by surprise. He added that customers were asking whether thev can do more. He
concluded that he thought the vegan and flexitarian market is the first major food trend that has come out of social
% media.

He said that it has taken them all by surprise. He added that customers are asking whether they can do more. He
concluded that he thought the vegan and flexitarian market was the first major food trend that had come out of social
% media.

He said that it had taken them all by surprise. He added that customers were asking whether thev can do more. He
concluded that he thinks the vegan and flexitarian market was the first major food trend that had come out of social
% media.

Question Number : 209 Question Id ;: 7230531141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the sentence in direct speech into its corresponding reported speech:

He told the reporter, “When someone is murdered it is clear: the courts must prosecute the criminal. Yet when we talk
about genocide, or crimes against humanity, people start looking for arguments.”
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Options:
He told the reporter that when someone was murdered it is clear that the courts must prosecute the criminal. He added
« that, however. when we talked about genocide, or crimes against humanity, people would start looking for arguments.

He told the reporter that when someone is murdered it is clear that the courts has to prosecute the criminal. He added
w that, however, when we talk about genocide, or crimes against humanity, people will start looking for arguments.

He said that when someone is murdered it is always clear that the courts must prosecute the criminal. However, when
w we talk about genocide. or crimes against humanity, people start looking for arguments.

He told the reporter that when someone is murdered it is clear that the courts must prosecute the criminal. He added
.~ that, however. when we talk about genocide, or crimes against humanity, people start looking for arguments.

Question Number : 210 Question Id : 7230531142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rewrite the sentence in direct speech into its corresponding reported speech:

She said, “Younger people are talking about veganism on social media and old shoppers are keen to buy into the idea of
being ‘flexitarian’.”

Options:
She remarked that younger people talked about veganism on social media and old shoppers were keen to buy into the
» idea of being ‘flexitarian’.

She remarked that younger people were talking about veganism on social media and that old shoppers were keen to buy
. into the idea of being ‘flexitarian’.

She remarked that younger people will be talking about veganism on social media and that old shoppers be keen to buy
 into the idea of being ‘flexitarian’.

She remarked that younger people are talking about veganism on social media and that old shoppers are keen to buy
% into the idea of being *flexitarian’.

Question Number : 211 Question Id : 7230531143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the sentence into the other voice, without change of meaning.

Waitrose this week launched dedicated vegan sections in more than 130 stores
Options:
% Dedicated vegan sections in more than 130 stores launched by Waitrose.

» Dedicated vegan sections in more than 130 stores were launched by Waitrose.

% Dedicated vegan sections in more than 130 stores are launched by Waitrose.
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» Dedicated vegan sections in more than 130 stores are being launched by Waitrose.

Question Number : 212 Question Id : 7230531144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Change the voice of the following sentence without changing its meaning.

"

Archaeologists unearthed the figurine in 2017 during excavations at a site called “Abel Beth Maacah’.

Options:
» The figurine was unearthed by archaeologists in 2017 during excavations at a site called *Abel Beth Maacah’.

5 The figurine is unearthed by archaeologists in 2017 during excavations at a site called ‘Abel Beth Maacah’.

« The figurine had been unearthed by archaeologists in 2017 during excavations at a site called ‘Abel Beth Maacah’.

% The figurine will be unearthed by archaeologists in 2017 during excavations at a site called *Abel Beth Maacah’.

Question Number : 213 Question Id : 7230531145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rewrite the sentence into the other voice, without changing its meaning.

Antarctic ice cores provide a history of the atmosphere for thousands of years and make known carbon dioxide levels
reached a distinct minimum around 1610.
Options:

A history of the atmosphere for thousands of vears was provided and that carbon dioxide levels reached a distinct
« minimum around 1610 is made known by Antarctic ice cores.

A history of the atmosphere for thousands of vears is provided and that carbon dioxide levels reached a distinct
 minimum around 1610 is made known by Antarctic ice cores.

A history of the atmosphere for thousands of vears is provided and that carbon dioxide levels reached a distinct
w minimum around 1610 has been made known by Antarctic ice cores.

A history of the atmosphere for thousands of vears will be provided and that carbon dioxide levels reached a distinct
% minimum around 1610 would have been made known by Antarctic ice cores.

Question Number : 214 Question Id : 7230531146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the sentence into the other voice, without changing its meaning.

Researchers suggest effects of the colonial era can be detected in rocks or even air.

Options:
% One can detect effects of the colonial era in rocks and even air is suggested by researchers.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

w That one can detect effects of the colonial era in rocks and even air was suggested by researchers.
5 That one could have detected effects of the colonial era in rocks and even air was suggested by researchers.

» T'hat one can detect effects of the colonial era in rocks and even air is suggested by researchers.

Question Number : 215 Question Id : 7230531147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rewrite the sentence into the other voice without changing its meaning.

Exciting young people about STEM and its endless possibilities will set them on an exciting path and could lead to a
fulfilling and rewarding career in engineering and technology.
Options:

When young people are excited about STEM and its endless possibilities, they will be set on an exciting path and could
» be led to a fulfilling and rewarding career in engineering and technology.

When voung people excited about STEM and its endless possibilities, will be set on an exciting path and could be led to
« a fulfilling and rewarding career in engineering and technology.

When young people will be excited about STEM and its endless possibilities, they are set on an exciting path and could
% lead to a fulfilling and rewarding career in engineering and technology.

When young people are excited about STEM and its endless possibilities, they will be set on an exciting path and led to
« a fulfilling and rewarding career in engineering and technology.

Question Number : 216 Question Id : 7230531148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rewrite the sentence into the other voice without changing its meaning.

The weight of evidence indicates that humans are not unique in possessing the neurological substrates that generate
CONnsclousness.
Options:

That humans are not unique in possessing the neurological substrates that generate consciousness has been indicated by
« the weight of evidence.

That humans are not unique in possessing the neurological substrates that generate consciousness is indicated by the
» Weight of evidence.

That humans are not unique in possessing the neurological substrates that generate consciousness is being indicated by
« the weight of evidence.

That humans are not unique in possessing the neurological substrates that generate consciousness will be indicated by
5 the weight of evidence.

Question Number : 217 Question Id : 7230531149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
Identify the option that converts and restates the following sentence using a rejected, impossible condition:

If they fail. the future of food will go into the hands of three giant companies that are wedded to genetic modification.

Options:
% They fail and the future of food will go into the hands of three giant companies that are wedded to genetic modification.

5 As they fail, the future of food will go into the hands of three giant companies that are wedded to genetic modification.

Were they to fail, the future of food would go into the hands of three giant companies that are wedded to genetic
# modification.

Had they failed. the future of food would have gone into the hands of three giant companies that are wedded to genetic
+ modification.

Question Number : 218 Question Id : 7230531150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the option that converts the sentence fully and correctly into a sentence that states a real and open condition:

Many of the poorest farmers use the system of rice intensification (SRI), which dramatically increases vields of rice,
wheat, and potato.

Options:
If many of the poorest farmers will not use the system of rice intensification (SRI), vields of rice, wheat, and potato will
» hot increase dramatically.

If rice, what, and potato yields were to increase dramatically, many of the poorest farmers would use the system of rice
« intensification (SRI).

Had the yields of rice, what, and potato not increased dramatically, many of the poorest farmers would not have used the
w Svstem of rice intensification (SRI).

If yields of rice, wheat, and potato will increase dramatically, many of the poorest farmers will opt to use the system of
% rice intensification (SRI).

Question Number : 219 Question Id : 7230531151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence below, which states an open condition. Identify the option that converts it correctly into a sentence
that states an unreal and rejected condition:

If more studies show how antibiotics interfere with immunotherapy, it may be possible to show how intestinal flora can
help new cancer treatments.

Options:
Had more studies shown how antibiotics interfere with immunotherapy, it may be possible to show how intestinal flora
% could have helped new cancer treatments.

Had more studies shown how antibiotics interfere with immunotherapy, it would have been possible to show how
« intestinal flora can help new cancer treatments.
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Had more studies shown how antibiotics interfere with immunotherapy, it would have been possible to show how
» intestinal flora could have helped new cancer treatments.

Had more studies not shown how antibiotics do not interfere with immunotherapy, it would have been possible to show
« how intestinal flora could have helped new cancer treatments.

Question Number : 220 Question Id : 7230531152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence below, which states an open condition. Identify the option that converts it correctly into a sentence
that states an unreal and imaginary condition:

If we want to close the boardroom gender gap, we need to stop helping women and start fixing workplaces.

Options:

5 If the boardroom gender gap is to be closed, we would need to stop helping women and start fixing workplaces.
» 1f we were to close the boardroom gender gap. we would need to stop helping women and start fixing workplaces.

% 1 we were to close the boardroom gender gap. we will need to stop helping women and start fixing workplaces.

« If the boardroom gender gap were to close, we would need to stop helping women and start fixing workplaces.
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Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 7230531153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Study the formal letter given below:

Abracada Industries Dt 10 Jan 2020
SEZ, Feral Land
To
Manacles Pvt. Ltd
SEZ, Ash Land

Dear John,

Remember the conversation we had about your last consignment? You seem
more concerned about settlement from our end than looking into our
complaints! You kept talking about dues and turned a deaf ear to out

complaints.
This cannot go on
Call me and confirm action at your end regarding replacing defective items
and then we will start thinking about paying you
Hope you understand things better now.

Yours sincerely,
Henry

The letter violates all that we associate with a formal letter,
Identify the superficial features of this letter, unacceptable as they are, which you will IMMEDIATELY change,
before you go on to revise the letter and make its language. tone and style formal.

Options:
% Change salutation and use of first names

» Change alignment and use of different fonts
% Remove the underlining in the body

% Replace the idiom used

Question Number : 222 Question Id : 7230531154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You are required to make an official announcement at your workplace, which will not be private or individual to
individual. For the message to have the utmost impact on the audience, you will get it printed and distributed later.
Which one of the following given options would you employ?

Options:

% An e-mail

% A notice on the noticeboard

« A business memo
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% A signed letter

Question Number : 223 Question Id : 7230531155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When you send an e-mail in your official capacity as the CEO of an organisation to the CEO of another one, who
happens to be a vendor, whose absence will sever the supply chain. escalating an old complaint. what will be vour initial
and last sentences in the body, after your greeting and before your signing off?
Options:

I am afraid you are taking advantage of the fact that without your products our factory will close down... Help us avoid
« further delays and losses.

» We are recording our complaint ... Take immediate action if you don’t want us to terminate your contract.

This is with reference to the complaints from our production team about the last two batches of xxxxxx, which have
& come to my attention... Hoping for a final solution from vou.

& It was nice meeting you in the club and getting to know your views on the last budget...Please do what you can at your end.

Question Number : 224 Question Id : 7230531156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

This is a condensed version of a business report; it includes a conclusion and (a set of) recommendations. It does NOT
indicate the writer’s orientation, agenda or significance-understanding. What is it called?

Options:

% Cover letter

% Summary
» ExXecutive summary

% Business memo

Question Number : 225 Question Id : 7230531157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following options is a proper thesis-statement, fit to be developed into an argumentative essay?
Options:

« Government educational institutions will become better once ‘corporate’ colleges and schools are closed.

Government educational institutions will become better once the controversy surrounding commercialisation of
« education dies down and people understand more money means more knowledge and skills via education.
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Government educational institutions will become better once they imitate ‘corporate’ colleges and schools and their
« pedagogic processes.

As the history of nationalisation of banks shows, just as private banking did not disappear or become less influential or
popular, or just as the working style of the public banks did not become customer-friendly. the writer argues that closing
» ‘corporate’ colleges and schools will not necessarily make government, public educational institutions “better’.

Question Number : 226 Question 1d : 7230531158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which ONE of the following options is a proper thesis-statement, fit to be developed into an argumentative essay?

Options:
% “The Great Gatsby’ is a great novel.

Though critics point out that Scott Fitzgerald’s ‘The Great Gatsby’ is about how the notion of the American dream is
illusory, or how it portrays the loss of innocence, or portrays the Jazz Age. its true fame lies in capturing the shadows of
5 evil vet to come.

‘The Great Gatsby’, of course, conveys the message that the notion of the American dream is illusory, but more
importantly it ushers American fiction into a new narrative world, as evident in T. S. Eliot’s observation: “the first step
. that American fiction has taken since Henry James’.

‘The Great Gatsby’, though it conveys the message that the notion of the American dream is illusory, does not argue
« that Americans must stop dreaming.

Question Number : 227 Question Id : 7230531159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that does not deal with this specific issue:

How does a writer communicate better with his audience? It could be a letter to the editor, an essay, a report or any such
piece of continuous writing {composition}?
Options:

Exemplify, even in a text that deals with a technical issue, ideas; the examples should match schemata that audience
« have interest in and easily relate to the discussed idea.

Make sure your adjectives and determiners are specific to the idea; make doubly sure the adjectives are derived ones
 and attributive in nature: condense sentences with many “technical adjectives’.

Employ sentences that are not too long or dense: be economical with words; define jargon only where needed — defining
% a term which vour audience is familiar with is either insulting to them or challenging to them.

Introduce not only the essay but also each paragraph in a multi-paragraph essay, but make sure the introductions act as
% advance organisers.

Question Number : 228 Question Id : 7230531160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Read the two sentences given below:

¢ Films will continue to entice insecure teenagers who have been hypnotised by the glamour and the glamourous
lifestyle of those associated with it and who dream of the money they would earn and adult-addicts for their love of
the medium.

e Films will continue to entice adult-addicts for their love of the medium and insecure teenagers who have been
hypnotised by the glamour, who dream of the money they would earn and the glamorous lifestyle of those associated
with it.

Teachers of “Writing” would advise you to use the second sentence (or similar structures). Identify the option that

properly explains the reasons for such a preference:

Options:
The second sentence moves down from “adults’ to “teenagers’, it follows the right hierarchical order and reflects reality
# better.

Mercenary instincts alone cannot be the reason, and since personalised satisfaction is more important, the second
« sentence has the better sequence.

% Love for medium is more important than glamour. The second sentence gets the order right.

Since the coordinated parts move from the shorter to the longer in the second sentence, a rhythmically more attractive
« line is created in the second sentence.

Question Number : 229 Question Id : 7230531161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is NOT an effective feature of an e-cover letter?

Options:
% Reiterating and keeping the channel open in the conclusion

» Attaching the cover letter to the main e-mail
« Attempting a greater specification in the subject line

% Pinpointing challenges you would like to face and advertising vour skills

Question Number : 230 Question Id : 7230531162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following should a letter of complaint AVOID and NOT include?

Options:
% Specific details of the complaint

% Details that would help the recipient to act
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» Threats of future legal action

% Suggestions about how the complaint could be redressed

Question Number : 231 Question Id : 7230531163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Once you employ a chart in your report/essay, what should you NOT attempt in explaining it and developing your ideas
in the body?

Options:

» Ensure through queries or a summary that the readers have perceived and understood the essential trends or movements

% Use clear language and avoid acronyms
« Make sure apples and oranges are not compared and that correlation is not taken as causation.

% Use direct labeling wherever possible, avoiding indirect look-up

Question Number : 232 Question Id : 7230531164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The sentences of a paragraph are given in a jumbled order and labelled A, B. C, D, E and F below. One of the sentences
offers a digression. Identify the digressing sentence:

A. Indian Buddhist analysis of the mind spans a period of some 15 centuries, from the earliest discourses of the Buddha

to the systematic developments of late Mahayana Buddhism.
B. Perhaps no other classical philosophical tradition, East or West. offers a more complex and counter-intuitive account

of mind and mental phenomena than Buddhism.

C. Philosophical accounts of mind emerge within scholastic traditions but tracing their roots necessarily uniquely to
Buddha's teachings of the not-self doctrine is fanciful.

D. Rather, Buddhist theories of mind center on the doctrine of not-self, which postulates that human beings are
reducible to the physical and psychological constituents and processes which comprise them.

‘While Buddhists share with other Indian philosophers the view that the domain of the mental encompasses a set of
interrelated faculties and processes, they do not associate mental phenomena with the activity of a substantial,
independent, and enduring self or agent.

Options:
v C

® D
® A

® E
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Question Number : 233 Question 1d : 7230531165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the option that provides the missing phrases in the paragraphs given below:

The argument and thought-experiment now generally known as the “Chinese Room Argument” was first published in a
paper in 1980 by American philosopher John Searle. It has become one of the best-known arguments in recent
philosophy.

a. following a computer program for responding to Chinese characters slipped under the
door. Searle understands nothing of Chinese, and vet, by following the program for manipulating symbols and
numerals just as a computer does, he produces appropriate strings of Chinese characters.

b. the narrow conclusion of the argument is that programming a digital computer may make
it appear to understand language but does not produce real understanding. Hence the “Turing Test” is inadequate.
Searle argues that the thought experiment underscores the fact that computers merely use syntactic rules to
manipulate symbol strings, but have no understanding of meaning or semantics.

+F that the theory that human minds are computer-like computational or information
processing systems is refuted. Instead minds must result from biological processes: computers can at best
simulate these biological processes. Thus the argument has large implications for semantics, philosophy of
language and mind, theories of consciousness, computer science and cognitive science generally.

d. there have been many critical replies to the argument.

Options:
a. Searle imagines himself alone in a room
b. that fool those outside into thinking there is a Chinese
speaker in the room
¢. The broader conclusion of the argument is
« d. Asaresult

a. Asaresult
b. The broader conclusion of the argument is
c. Searle imagines himself alone in a room
d. that fool those outside into thinking there is a Chinese
% speaker in the room
a. Asaresult
b. Searle imagines himself alone in a room
c. that fool those outside into thinking there is a Chinese speaker in the room
» d. The broader conclusion of the argument is
a. The broader conclusion of the argument is
b. that fool those outside into thinking there is a Chinese speaker in the room
c. Searle imagines himself alone in a room
# d. As aresult

Question Number : 234 Question Id : 7230531166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which option provides the two missing sentences, a and b in the paragraph given below?

On 7 March 2014 at 16:42, flight MH370 departed from KL bound for Beijing. Initially, everything about the flight
proceeded as normal. The Mode S transponder system on board the aircraft was responding as expected to interrogation

from the ATC Secondary Surveillance Radar up to the time when it was lost on the ATC radar screen at 17:21:13.
a.

b.

This message contained a collation of six reports generated at five-minute intervals by the svstem from 16:41:43 until
17:06:43. These reports contained information about the aircraft position and motion such as latitude, longitude,
altitude, air temperature, air speed, wind direction, wind speed, and true heading.

Options:
a. The last recorded radio transmission with the crew of MH370 occurred at 17:19:30 as the aircraft was instructed to

contact Vietnamese ATC on leaving the Malaysian Flight Information Region.
% b. No message was received from the aircraft to report a system failure.

a. No message was received from the aircraft to report a system failure.

b. Similarly, the on-board Aircraft Communications Addressing and Reporting System (ACARS) reported as expected
« at 17:07:29.

a. The last recorded radio transmission with the crew of MH370 occurred at 17:19:30 as the aircraft was instructed to
contact Vietnamese ATC on leaving the Malaysian Flight Information Region.
% b. The ACARS position reports are scheduled to be transmitted at thirty-minute intervals during cruise.

a. The ACARS position reports are scheduled to be transmitted at thirty-minute intervals during cruise.
% b. The next scheduled report at 17:37 was not received.

Question Number : 235 Question Id : 7230531167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the option that continues the following discussion appropriately:

e The melting of Antarctica is accelerating at an alarming rate.

e An international team of ice experts said in a new study that about 3 trillion tons of ice have disappeared since 1992,
o From 1992 to 2011, Antarctica lost nearly 84 billion tons of ice a year (76 billion metric tons).

L

L]

o All that water made global oceans rise about three-tenths of an inch (7.6 millimeters).
Options:

¢ In the last quarter century, the southern-most continent's ice sheet — a key indicator of climate change — melted into
enough water to cover Texas to a depth of nearly 13 feet (4 meters).

% ® From 2012 to 2017, the melt rate increased to more than 241 billion tons a year (219 billion metric tons).

e From 2012 to 2017, the melt rate decreased to more than 241 billion tons a year (219 billion metric tons).

e In the last quarter century, the southern-most continent's ice sheet — a key indicator of climate change — melted into
%  enough water to cover Texas to a depth of nearly 13 feet (4 meters).

e From 2012 to 2017, the melt rate increased to more than 241 billion tons a vear (219 billion metric tons)

e In the last quarter century, the southern-most continent's ice sheet — a key indicator of climate change — melted into
w  cenough water to cover Texas to a depth of nearly 13 feet (4 meters).
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¢ From 2012 to 2017, the melt rate increased to more than 241 billion tons a year (219 billion metric tons)
o In the last quarter century, the southern-most continent's waters — a key indicator of climate change — solidified into
%  enough ice to cover Texas to a depth of nearly 13 feet (4 meters).

Question Number : 236 Question Id ;: 7230531168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that gives the correct order of the sentences below, and helps it become a paragraph:

A. There is an early need to standardise charging infrastructure/equipment to ensure interoperability and make it
widespread.

B. The country aims to set up more than 4.8 million charging points at an investment of almost $20 billion by 2020.

C. Similarly, China has standardised charging infrastructure to ensure increased usage and set up 16,000 charging points

across the country.
D. For the alternative mobility technologies to settle, an enabling infrastructure is required.
E. European OEMs have formed a consortium, ‘Tonity’, to provide interoperable charging points across the continent.
F. China has regulations to include charging infrastructure in all residential buildings. India needs to start learning from

global examples to push enabling infrastructure.

Options:
x A,E.D,C,B,F

« A D C.EFB
« D,A, C,E,B,F

¢D,AE,C,B,F

Question Number : 237 Question Id : 7230531169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first five sentences of the paragraph given below are in a jumbled order. Identify the option that gives their correct

order:

Of the total vehicular pollution, 40% to 45% comes from two-wheelers and another 30% to 35% from four
wheelers.

The movement away from kerosene, coal and wood fires for cooking will have a big impact on domestic activity.
The other area that is already critical and will keep getting worse, unless checked, is vehicular emission.

We need to speed up the journey towards LPG and solar-powered stoves.

Just vehicular pollution contributes around 35% of the total PM 2.5 emissions today.

>

Mmoo oW

In a future with internal combustion engines (ICE) vehicles, urban pollution will continue to remain 25% to 30% above
safe global standards because of the growth in automobiles. This is where our focus needs to be.

Options:
¢ B, D,C.E A

« C,E.AB.D
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w ABCD,E

« E.D.C.B.A

Question Number : 238 Question Id : 7230531170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the paragraph given below. Two sentences, other than the first one, state the same idea. It is enough if one of
them is retained and the other can be dropped. Identify the pair — keep it in mind that either of them could be deleted.

A. What is the carbon bubble and what will happen if it bursts?
B. This carbon bubble has been estimated at between Sltrillion and $4 trillion (£3 trillion), a large chunk of the global

economy’s balance sheet.

C. Investments amounting to trillions of dollars in fossil fuels — coal mines, oil wells, power stations, conventional
vehicles — will lose their value when the world moves decisively to a low-carbon economy.

D. Fossil fuel reserves and production facilities will become stranded assets. having absorbed capital but unable to be

used to make a profit.
E. Currently. fossil fuel prices do not reflect the environmental damage the fuels do, in climate change and air and

water pollution.
F. As the world moves towards a low-carbon economy, fossil fuel investments worth trillions of dollars, from oil wells

to cars, will lose their value.

Options:
## ForE

# EorD
«w CorF

# CorB

Question Number : 239 Question Id : 7230531171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the correct sequence of ideas and the letter of the sentence that disrupts the unity of the paragraph.

The organic movement was founded on the pioneering work of Sir Alfred Howard.

A.  There are other agricultural models, such as biodynamic farming and permaculture.

B. Organic and biodynamic meats have labels, regenerative farming, as yet, does not — so you need to investigate
vour farmer yourself.

C. More recently some innovators have been fusing technology with environmental principles

D. Itisstill relatively small — in Europe 5.7% of agricultural land is under this movement — but influential.

E. Agroforestry, silvopasture. or regenerative agriculture create farming methods which all encompass carbon
sequestration, high biodiversity and good animal welfare.

Options:
% B.E,C.D—omit A

%« B, A, C.E—omitD
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« D, A, C,E—omitB

« C,D.E.A—omit B

Question Number : 240 Question Id : 7230531172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that suggests a better sequencing of ideas expressed in the bulleted list, keeping in mind the
proposition developed in the sentence itself:

Throughout human history the hunting and farming of meat has been part of our stories and mythologies and some of
our legal and religious systems:

1. even the roasted wild boars consumed at the end of every adventure by Asterix and Obelix

2. the sacrificial sheep to mark the beginning of Eid Al-Adha

3. the medieval forest laws that created areas where no one but English royalty could hunt

the fatted calf for the prodigal son

&

Options:
% T'he given sequence is acceptable as it moves from comics to serious stories

% Only the statement about *the sacrificial sheep™ needs to be moved up as it is sacred

Reflecting the order stated. the fatted calf should be the first one. followed by the royal laws and the sacrificial sheep:
« Asterix and Obelix should be the last one.

% The royal practice and laws are factual and must be stated first
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 72305384
Question Shuffling Allowed : Yes

GET IT ON
Google Play

Question Number : 241 Question Id : 7230531173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Read the *letter to the editor’ given below:

Identify the option that describes the relationship between the second and the third sentences:

This refers to ‘Sanitation and state capacity’ by oo (Xx
October 14). I couldn’t agree more with the writer on why
“Swachh Bharat must go beyond building physical
infrastructure”. Cooperation across departments as well as
roping in civic bodies and, most importantly, citizens
remain the most critical bottlenecks for many of the
government’s abhiyans. Waste management must be
addressed as a priority. Issues like recycling and
processing domestic and commercial electronic waste,
which is growing exponentially, require a more
sophisticated approach than landfill dumping.

IS

Yyy

Options:
« Exemplification

% Addition
» Specification

% Generalisation

Question Number : 242 Question Id : 7230531174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Read the *letter to the editor’ given below:

GET IT ON
Google Play

Identify the option that describes the relationship between the second and the third sentences:

who visit the zoo.
- BS
777

The recent hype created by the media over the mauling of a visitor by a white
tiger at the Delhi Zoo portrays the animal as a bloodthirsty monster (‘A zoo
tragedy’, xx, September 24). While it is sad that a young life was lost due to the
negligence of the zoo authorities, it is certainly wrong to paint an animal born
and raised in captivity as an evil brute. Given the shouting and the stones being
pelted on the tiger, even the calmest animal could be provoked into turning
aggressive. There should be greater focus on instilling discipline among people

Options:
% Glving a reason

» Substantiating a stance announced
% Adding details to what has been stated

» Exemplifying a statement

Question Number : 243 Question Id : 7230531175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Read the letter below.

Identify the option that specifies the defect in this letter:

It is not surprising to see the continued hounding of author
Perumal Murugan for exercising his fundamental right to
freedom of speech and expression (‘Murugan, wife apply for
transfer from college to avoid book row’, IE, February 4).
The Indian constitution safeguards freedom of speech. So do
many nations. I remember discussing this issue with a few
Americans in Washington. Washington is such an
impressive city, full of administrators? That 1s why Amartya
Sen immortalised the idea of “the argumentative Indian™. I
am with you, Mr Murugan, and with many others like you.
-nd

XXX

Options:
% Lack of ideas
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» Lack of unity
% Lack of examples

% Lack of references

Question Number : 244 Question Id : 7230531176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that specifies the defect in the following letter:

I DO not agree with the editorial, ‘Take Rajasthan’s cue’
(Xx, September 24). Toilets and playgrounds are integral to
any learning environment. It should also periodically review
the pedagogy. A lower emphasis on toilets is also likely to
have a negative impact on girls’ education, since the lack of
toilets in schools is a major reason for them dropping out.
The government should address the issue of learning
outcomes through a multi-pronged approach. It should raise
the standard for teacher selection. The suggestion of
overlooking the teacher-student ratio criteria is ironic, since
that is also bound to affect learning outcomes.

-AS

XXX

Options:
« Lack of coherence

% Lack of unity
% Lack of development

% Lack of reference

Question Number : 245 Question Id : 7230531177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the tragic heroes of Shakespeare exemplify the Aeschylean notion of “knowledge through suffering”
(redemption)?

Options:
% Antony in ‘Antony and Cleopatra’

% Hamlet in ‘Hamlet’
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» Lear in ‘King Lear’

% Macbeth in ‘Macbeth’

Question Number : 246 Question Id : 7230531178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the options does NOT describe an essential feature of a *blank verse’?

Options:
% A blank verse uses unrhymed five-stress lines, 1.e., iambic pentameters.

% A blank verse is closest to the rhythms of normal, everyday English speech.

» A blank verse does not suit the *high seriousness” of epics such as ‘Paradise Lost’

% The blank verse did not disappear and could be found in later schools of poetry, including T. S. Eliot’s.

Question Number : 247 Question Id : 7230531179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Romantic period, which ran between the publication of ‘Lyrical Ballads’ and the passing of ‘Reform bills’,
emphasised the following mentioned in the options. One of the options is not related to the ideals of the Romantic
period. Identify it:

Options:

% Intense focus on human subjectivity

% An exaltation of Nature, seen symbolically
» Comprehensive and inclusive rationalisation

» Focus on childhood and spontaneity

Question Number : 248 Question Id : 7230531180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Gothic novels are tales of mystery and horror. They rely heavily on
Identify the wrongly attributed feature.

Options:
s« the presence of the devil and/or ghosts
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% an innocent young heroine, normally a governess
% a supernatural, exotic environment

» a nonlinear plot narrated through letters

Question Number : 249 Question Id : 7230531181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Shakespearean sonnet consisted of:

Options:
% an octave and a sestet

% seven couplets
» three quatrains and a couplet

% an indivisible 14-line unit

Question Number : 250 Question Id : 7230531182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
These lines are from Herbert’s “Redemption’. The poem uses an extended metaphor and is allegorical in nature. It is
also a parable — a parable of tenants.

At length I heard a ragged noise and mirth
Of theeves and murderers. there I him espied,

Who straight, Your suit is granted, said, & died.
Identifv the best possible inference and generalisation of the poem:
Options:
% A request that he pays less rent for the land he has taken from the landlord.
» A plea that he be allowed to make fewer sacrifices to be ‘redeemed’ — that his soul be saved.

% An appeal that he be allowed to punish his body less for the purification of his soul.

% A prayer that he be allowed to change the rental terms in a new contract.

Question Number : 251 Question Id : 7230531183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Identify the correct option.

Which one of the following plays by Shakespeare makes use of a framing structure called Induction?

Options:
» The Twelfth Night

% Much Ado About Nothing
» The Taming of the Shrew

» Merry Wives of Windsor

Question Number : 252 Question Id : 7230531184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the play/correct option:

Dr. Johnson made this observation about a play by Shakespeare: fo waste criticism upon unresisting imbecility, upon
Jfaults too evident for detfection, and too gross for ageravation.

Options:
5 The Twelfth Night

» Cymbeline

% Hamlet

% Macbeth

Question Number : 253 Question Id : 7230531185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following plays by Shakespeare does NOT employ a chorus or a character playing a role similar to
that of a chorus?

Options:
% Hemry V
% The Winter's Tale

% Pericles

« Macbeth
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Question Number : 254 Question Id : 7230531186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify what Sidney DID NOT say about or on history.

Options:
% Poetry uses examples [like historians] and precepts [as philosophers do]

« Poetry can portray the ideal: History cannot, as it is bound by truth/reality
« Poetry can reward virtue and punish vice/evil; History reflects life *where sinners can prosper’

» Poetry liberates itself through reality; History is constrained by reality.

Question Number : 255 Question Id : 7230531187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Comedy of humours use the Medieval and Renaissance medical theory that the human body held a balance of four
liquids. When properly balanced, these humours were thought to give the individual a healthy mind in a healthy body.
The options below lists the four humours, but one of them is INCORRECT.

Identify the INCORRECT option:
Options:
» sanguine

% phlegm

% choler

% blood

Question Number : 256 Question Id : 7230531188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which of the following poems did Milton invoke the goddesses of Mirth and Melancholy?

Options:
» 'Paradise Lost’ and ‘Paradise Regained’
» L'Allegro’ and “Il Penseroso’

% "Comus’ and ‘Lycidas’

% "On having attained the age of three and twenty’ and “On his blindness’
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Question Number : 257 Question Id : 7230531189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘The practice of recording conversations and sayings of the famous became especially popular in the 17th century. This
material is especially useful for biographers and can be a form of literary biography in itself.’ One of the best-known
examples of this is:

Options:
% Lytton Strachey’s ‘Eminent Victorians’

% Jerome K. Jerome’s ‘My Life, and Times’
» William Hazlitt’s Table-Talk, a collection of essays

» James Boswell’s biography of Samuel Johnson

Question Number : 258 Question Id : 7230531190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e This famous novel by Sir Walter Scott has Elizabeth I as a character.

e It is centered around the life and death of the Countess of I eicester and the ambition of her husband -- sharing the
crown of his sovereign, Elizabeth I

Identify the novel.

Options:
% Ivanhoe

% Rob Roy

« Kenilworth

x waverley

Question Number : 259 Question Id : 7230531191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the option that names the poet and the poem from which these lines are taken.

We decay
Like corpses in a charnel,
the creative spirit of Adonais,
like a star,
Beacons from the abode where the Eternal are.

Options:
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% Tennyson, ‘In Memorium’
% Milton, ‘Lycidas’
» Shelley. ‘Adonais’

% Arnold, *Thyrsis’

Question Number : 260 Question Id : 7230531192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e ‘Thyrsis’, [a monody] is an elegiac poem by Matthew Arnold. It is considered one of Arnold’s finest poems.

e ‘Thyrsis’ is a traditional Greek name for a shepherd-poet.
Options:

« Percy Bysshe Shelley

% William Wordsworth

» Arthur Hugh Clough

% Alfred Tennyson

Subject Related

Group Number : 14
Group Id : 72305359
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20

Subject Related

Section Id : 72305359
Section Number : 1

Section type: Online
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Number of Questions: 20
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Sub-Section Number: 1
Sub-Section 1d: 72305385
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 7230531193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the name of the old man in I ondon who teaches voung homeless boys how to be pickpockets and then fences
their stolen goods and is executed for complicity in a murder in Dickens’s *Oliver Twist™?

Options:
# Bill Sikes

% The Artful Dodger
» Fagin

% Mr. Bumble

Question Number : 262 Question Id : 7230531194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank by choosing the correct option:

Hemingway employs to narrate the tale of *“The Old Man and the Sea’.
Options:
s first-person narration

» a third person omniscient narrator

% a multivocal narrative

% a fly-on-wall technique

Question Number : 263 Question Id ;: 7230531195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What does the scarlet letter stand for in *The Scarlet Letter’? Why is the colour scarlet used here?

Options:
It is the letter A of the alphabet: its colour is a Biblical reference to the Whore of Babylon who was dressed in purple
w and scarlet

5 The scarlet letter was a letter the narrator discovers; he is forced to chase the mystery — scarlet signifies danger
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It is the letter A of the alphabet: the colour scarlet was the colour of Christ’s blood and indicates ‘a martyr’ — punished
% for no sin of his or her

% The scarlet letter is a mystery and the theme of the novel; scarlet indicates danger

Question Number : 264 Question Id : 7230531196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What is the fly in Emily Dickinson’s poem °I heard a fly buzz — when I died’?

Options:

% A housefly, the symbol of a carrier of infection and death, telling her in her ear that her death is imminent

« A butterfly, that buzzed to remind her of the mystery and miracle of the world and life at the moment of her death

« An imaginary fly accompanyving her in her death; she could hear it in her dying moments in her mind

» A metaphor for her soul leaving her body —an aural image of death: fly here connotes death

Question Number : 265 Question Id : 7230531197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Name the play by George Bernard Shaw which is about war between the gender, shows woman as conqueror and posits
that in the battle between instinct and intelligence, instinct always wins. This play has Don Juan as a Shavian hero in
England at the turn of the century.

Options:

% Mrs. Warren’s Profession

% Candida

» Man and Superman

% The Devil’s Disciple

Question Number : 266 Question Id : 7230531198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Miller wrote in 1949, “The quality in such plays [i.e., tragedies] that does shake us _derives from the underlving fear of
being displaced, the disaster inherent in being torn away from our chosen image of what and who we are in this world.
Among us today this fear is as strong, and perhaps stronger, than it ever was. In fact, it is the common man who knows

this fear best.”

Which play of his illustrates the highlighted clause?
Options:
% The Crucible
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% All My Sons
# The Last Yankee

« Death of a Salesman

Question Number : 267 Question Id : 7230531199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In this poem, TS Eliot reflects upon language, time, and history. The poem itself could be read as a clear meditation on
time. Identify the poem.

Options:
% The Waste Land

» Four Quartets
% T'he Love Song of J. Alfred Prufrock

% Ash Wednesday

Question Number : 268 Question Id : 7230531200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Oxford Dictionary defines drama as ‘a play for theatre, radio, or television. as a genre or style of literature and as
the activity of acting.” What is the impact of television on the literariness of English drama? In which aspect of drama as
theatre is the influence most palpable?

Options:

% T'he emergence of ‘closet dramas’

% Costumes and presentation
% Dialogue delivery and authentic language

» Awareness of the images constructed for viewers

Question Number : 269 Question Id : 7230531201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Hopkins’s ‘Pied Beauty’ is a unique example of a curtal sonnet. Explain the significance of these lines and the echo of
an image by another poet.

All things counter, original, spare, strange;

Whatever is fickle, freckled (who knows how?)

With swift, slow, sweet, sour, adazzle, dim;

He fathers-forth whose beauty is past change:
Options:

Hopkins is exploring his relationship with God through experimental stress patterns, syntax and language, which is
# similar to Eliot’s in *“The Waste Land’

Hopkins, in this hymn, a paean, reinforces this notion of a changeless God divinely creating dappledness, complexity,
 Variety and flux, similar to a kind God creating the Lamb and a punitive one. the Tyger in Blake

Hopkins in these lines employs a telling alliterative rhythm — the sounds are similar, but signify contrary and different
« Vvalues, as early English poets used to

Hopkins observes here that the whole spectrum of nature in all its beauty is mysteriously germinated by Him, who is
« worthy of praise and tries to imitate the tone and affect of the psalms.

Question Number : 270 Question Id : 7230531202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Yeats laments in Easter 1916. “All changed, changed utterly:/A tervible beauty is born.”
Explain the nature of the change and the terrible beauty referred to here.

Options:

» The Irish rising and the English reaction

% A growing indifference to nature affer WWI

% The davwn and influence of modernism

% Maud Gonne’s change of mind and heart

Question Number : 271 Question Id : 7230531203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identifv the correct option and complete the observation:

In the novels seeking the most objective narrative method of all, the device of the storyteller who does not understand the
story he is telling, the technique of the “unreliable observer” was used by James Joyce and other writers. The reader,
understanding better than the narrator, has the illusion of receiving the story directly. The device that Joyce employs
towards achieving this is known

Options:

% parody of other narrative styles

% echoes of famous lines and allusions
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» stream of consciousness [interior monologue]

« fantastic incidents and shadowy characters

Question Number : 272 Question Id : 7230531204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
This dramatist was the first to use characters pared down to basic existential elements and as symbols to reiterate his
Stygian [= unpleasantly dark] view of the human condition; he is also known as the one who initiated the Theatre of the

Absurd.

Identify the dramatist from the options given.

Options:
% Harold Pinter

% Joe Orton
« Samuel Beckett

% Bertolt Brecht

Question Number : 273 Question Id : 7230531205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following lines, what is it that Nissim Ezekiel is referring to?

There is a place to which I ofien go,
Not by planning to, but by a flow
Away firom all existence, to a cold
Lucidity, whose will is uncontrolied.
Here, the mills of God are never slow.

Options:
% Warmth of homeland
% Finiteness of graveyard

« Inevitability of death

» Understanding life in death

Question Number : 274 Question Id : 7230531206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Mahbub Ali in Kipling’s *Kim’ tells Kim. *Here begins the great game.” Identify the option that offers the most relevant
and clear interpretation of the statement.

Options:

« It predicts the cold war between the West and Russia in the 20th century

% It seeds the spy stories of le Carre around Kim [Philby] where espionage was a [deadly] game

» Itrefers to the battle for supremacy in Asia between Britain and Russia in the joth century

% It hints at the battle between the races, in which Kim would ultimately become a “chela’

Question Number : 275 Question Id ;: 7230531207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The tortuous initiation into modern life, mimicked sans philosophical over- or undertones, in an imaginary land, the
part-feudal. part-modern setting of inchoate longing and vague dissatisfactions and intellectual impotence of the
marginalised upper caste protagonists, and the confused inner life of a fragmented makeshift pre-colonial society that
has vet to figure out its past or future are the concerns of this novelist, according to a critic.

Identify the novelist.

Options:
% Mulk Raj Anand

» RK Narayan
% Raja Rao

% Rabindranath Tagore

Question Number : 276 Question 1d : 7230531208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the correct option.

Mulk Raj Anand’s Munoo in ‘The Coolie’ is essentially and ultimately a victim of different oppression in society
compared to that which Bakha in ‘The Untouchables’ goes through in a day. What is the other crucial difference
between the two characters. when all that is stated and on the surface is understood. that could be inferred?

Options:
« Bakha can dream. Munoo has to exist

» Bakha suffers untouchability, Munoo is a victim of exploitation

» Bakha can be redeemed by a leader, Munoo’s redemption is death
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% Bakha is a boy throughout the novel, Munoo grows into a man

Question Number : 277 Question Id : 7230531209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the correct option.

Which of the following authors below CANNOT be classified under *Caribbean Literature’?

Options:
« Nadine Gordimer

# CLR James
% VS Naipaul

% Derek Walcott

Question Number : 278 Question Id : 7230531210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the correct option.

‘The Road” by Soyinka depicts the Nigerian experiences during the middle of the twentieth century, and it reflects the
roles played by drugs, criminals, corrupt policemen, and unscrupulous politicians. This line is from The Road” of Wole
Soyinka: "May we never walk when the road waits, famished." Explain the significance of this line.

Options:
The Professor’s occupation promotes a personal quest for the meaning of death, which encounters him at the end of
# ‘The Road’.

» It is a prayer to Ogun, the god of the road (in Yoruba cosmology). and not simply the road itself. that waits, hungry.
% It is an adage that cautions against driving on the road and advocates walking on it, instead.

Sovinka's fascination with the predatory quality of the road. This beast of prey which lies in wait is "a monstrous man-
w eater: an inescapable doom."

Question Number : 279 Question Id : 7230531211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What makes women writers in Indian Writing in English stand out?

Options:
% Women writers continue to define the borders of the community. class, and race.

« Women writers are more concerned with exploitation in the name of patriarchy and write from the vietims® point of view.
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% Women writers are barely directly affected by colonial oppression and colonialism

Women writers are sensitive to what Indian women have suffered under ‘double colonisation’ — patriarchal and colonial

» yokes simultaneously

Question Number : 280 Question Id : 7230531212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who said this?

Magic realism, at least as practiced by Mdrquez, is a development out of Surrealism that expresses a genuinely "Third

World" consciousness ...
magic.
Options:
« Salman Rushdie

% Vikram Seth

% Edward Said

% Homi Bhabha
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He is not writing about Middle-earth, but about the one we all inhabit. Macondo exists. That is its
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Sub-Section 1d: 72305386
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 7230531213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A teacher wants to develop the gross motor skills of the students. Which one of these activities would NOT be
appropriate for developing gross motor skills?

Options:
% Stretching

% Climbing
» Ball throwing

» Newspaper scrunch

Question Number : 282 Question Id : 7230531214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The aim of which scheme launched in 2001 is to provide useful and relevant elementary education for all children in the
age group of 6-14 years?

Options:
% The State Resource Centre(s)

# Jan Shikshan Sansthans
» Sarva Shiksha Abhiyan

% Rashtriva Madhyamik Shiksha Abhivan

Question Number : 283 Question Id ;: 7230531215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is NOT a level of cognitive domain?

Options:
% Ewvaluation

% Synthesis

% Application
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« Articulates

Question Number : 284 Question Id : 7230531216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the learning style from the given description:

Rita is given a project on saving environment. She prefers using charts, diagrams. visual aids over the written words.
What kind of learning preference does Rita exhibit?

Options:
» Visual / Non-verbal Learning style

% Visual /Verbal Learning style
» Tactile Learning style

% Auditory Learning style

Question Number : 285 Question Id ;: 7230531217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The skills of speaking and writing are called skills.

Options:
" active

% passive
% programmed

% arbitrator

Question Number : 286 Question Id : 7230531218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the attitude to be developed in a student through teaching social sciences from the given options.
Options:

» Knowledge to find the sources of given information
» Ability to use simple tools like maps, graphs, etc.

« Ability to participate constructively as a member or leader in group discussions
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» Respect and appreciation for accomplishments of man throughout history in solving problems

Question Number : 287 Question Id : 7230531219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Understanding that there are socially determined differences between men and women. and that these influence access
to and control of resources is known as:

Options:
« gender equality

% gender equity
« gender parity

o gencier dWareness

Question Number : 288 Question Id : 7230531220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these is NOT a part of social science?

Options:
% Statistics

% Anthropology
» Biology

# Law

Question Number : 289 Question Id ;: 7230531221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a particular mathematics class, a student suggests alternative methods to a problem. Which stage of cognitive domain
is the student exhibiting?

Options:
% Knowledge

% Understanding

» Application
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% Skill

Question Number : 290 Question Id : 7230531222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these is NOT an advantage while using the teaching-derived materials for teaching?

Options:
« Materials produced within the institution can be revised or adapted as needed. giving them greater flexibility.

Institutionally prepared materials may enhance the reputation of the institution by demonstrating its commitment to
« providing materials specifically for its students.

Materials can be produced that are directly relevant to students’ and institutional needs and that reflect local content,
w 1ssues, and concerns.

» Quality materials take time to produce and adequate staff time as well as resources need to be allocated.

Question Number : 291 Question Id : 7230531223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these examples does NOT integrate art. dance. music, craft with other subjects?

Options:
% Students explore Indian mythology using puppets in social science class.

Tamil students learn the difference between translating and interpreting the language using music and the literary works
# of RD Burman

% Mathematics students manipulate flower garlands to understand the patterns.

» History students watch a movie on Akbar in an open-air auditorium to know the good works of the emperor.

Question Number : 292 Question Id : 7230531224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is NOT a major aspect in playwriting?

Options:
% Dialogue
# Genre

% Plot

o Cliche
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Question Number : 293 Question Id : 7230531225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is NOT a blog tool?

Options:

» Edublog
« Blogger

« Permalink

% WordPress

Question Number : 294 Question Id : 7230531226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these statements on audiovisuals (AV) is NOT correct?

Options:
% AV helps in developing perception
s« AV helps in transfer of training

% AV helps in assumilation of knowledge

» AV helps in gaining attention of distracted students

Question Number : 295 Question Id : 7230531227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is NOT necessarily a method of motivation to promote self-learning in students?

Options:
» Never blame techniques
» Reward techniques

% Success and failure techniques

» Knowledge of result

Question Number : 296 Question Id : 7230531228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Which of these is NOT an assessment method?
Options:

# Discussion board threads

% Simulations
% Posters

» Students watching a cartoon audiovisual

Question Number : 297 Question Id : 7230531229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When the test measures what it claims to measure along with what is worth measuring . then the test is said to be:

Options:
« valid

% reliable
% fair

% authentic

Question Number : 298 Question Id : 7230531230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these examples need NOT necessarily reflect teacher evaluation?

Options:
% Students complain that they must wait long for their homework books to be returned

« The average marks of the class were 62.8 %
% The students feel very happy to attend Mr John’s class as he involves them in lot of curricular activities

» Meghana scored 90% in mathematics in the board exams

Question Number : 299 Question Id : 7230531231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these options is a barrier in inclusive education?

Options:
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» Parents’ vision of giving their differently-abled a child a normal life can be made true.
% Children develop a positive understanding of themselves and their society.
« Friendship and social skills develop.

» Constructing a curriculum that meets to the needs of all the children.

Question Number : 300 Question Id : 7230531232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of these sentences is NOT true about the factors that affect inclusive education?
Options:

» EXpenses are a constraint to meet up to the needs of all the children

% Societies negative attitudes towards children of different abilities
» Accessibility to the students to reach the classroom

» Differently-abled students can never be made a part of normal students in any given classroom
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